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Bu soru kitapg¢igi Fen Bilimleri, Saglik Bilimleri ve
Sosyal Bilimler olmak Uzere U¢ ayr alandaki
ingilizce testlerini icermektedir. Testlerin cevap
anahtarlar birbirinden farklidir. Bu testlerden
basvurunuza uygun olanini secerek cevap-
layiniz.

Bu testlerin basladiklari sayfalar soyledir:

Fen Bilimleri Testi 1
Saglik Bilimleri Testi 18
Sosyal Bilimler Testi 36

Bu soru kitapgiginin tiri A’dir. Bunu cevap
kagidinizdaki ilgili alana kodlayiniz.

Bu kodlamayi cevap kagidiniza yapmadiginiz
veya yanlis yaptiginiz takdirde, sinavinizin
degerlendirilmesi miimkiin degildir.

Bu test icin verilen cevaplama siresi 180
dakikadir (3 saat).

Cevaplamaya istediginiz sorudan baslayabilirsi-
niz.

. Test kitapgigindaki her sorunun yalnizca bir

dogru cevabi vardir. Bir soru igin birden fazla
cevap yeri isaretlenmisse o soru yanlis cevaplan-
mig saylilacaktir.

. Bu kitapgiktaki sorularin cevaplari, kitapgikla

birlikte verilen cevap kagidinda ayrilmis olan
yerlere, kursun kalemle isaretlenecektir. Cevap
kagidi  burusturulmayacak, Uzerine gereksiz
hicbir isaret konulmayacaktir.

. Bu sinavin degerlendirilmesi dogru cevap

sayisi Uzerinden yapilacak, yanlis cevaplar
dikkate alinmayacaktir. Bu nedenle, her soruda
size en dogru goriinen cevabi isaretleyerek ce-
vapsiz soru birakmamaniz yarariniza olacaktir.

. Sinavda uyulacak diger kurallar bu kitapgigin

arka kapaginda belirtilmistir.

klilfeti pesinen kabullenmig sayilir.

Bu testin her hakki saklidir. Hangi amagla olursa olsun, testlerin tamaminin veya bir kisminin Merkezimizin
yazili izni olmadan kopya edilmesi, fotografinin ¢gekilmesi, herhangi bir yolla ¢cogaltiimasi, yayimlanmasi ya da
kullanilmasi yasaktir. Bu yasaga uymayanlar gerekli cezai sorumlulugu ve testlerin hazirlanmasindaki mali




A

INGILIZCE
FEN BILIMLERI TESTI

1. — 18. sorularda, ciimlede bos birakilan yer-
lere uygun diisen sozciik ya da ifadeyi bulu-
nuz.

1. The cells of all living organisms have the ---- to
harvest energy from the breakdown of organic
fuel molecules.
A) amount B) clarity

C) performance D) reliance

E) ability

2. Bacteria are truly remarkable in terms of their
adaptations to extreme environments and their

abilities to survive in parts of Earth that are ---- to

other forms of life.
A) distasteful B) cordial
C) inhospitable D) persuasive

E) discreet

3. In December 1831, at the age of 22, Darwin began
a round-the-world sea voyage that ---- influenced

his thinking.

A) obscurely B) legitimately

D) respectfully  E) profoundly

4. All organisms have some capacity to adapt to
environmental changes, but the extent of this
adaptive capacity ---- greatly.

A) executes B) varies C) discards

D) abolishes E) merges

C) hopefully
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5. The geological history of the Grand Canyon

region ---- to be a lot more complex than

previously thought when scientists examined the
area in more detail.
A) put off B) gave up
C) brought about D) turned out

E) set out

6. Most space rockets plunge into the oceans or

become space litter when they are ---- completely.

A) taken up B) fallen out C) given out

D) made up E) used up

7. Scientists ---- that by the year 2050, robot brains

based on computers that have the ability to
execute 100 trillion instructions per second ----
rivalling human intelligence.

A) are predicting / are starting

B) have predicted / would start

C) predicted / would have started

D) predict / will start

E) would predict / will have started

Diger sayfaya geginiz.



8. NASA ---- experiments on the surface of the moon

10.

for eight years when they ---- them down in 1977
for financial reasons.

A) conducted / would have to shut
has been conducting / have to shut
had been conducting / had to shut

was conducting / have had to shut

would have conducted / would have had to shut

It is predicted that the world’s fossil fuel sources
---- completely by the turn of the century unless
strict policies to use them wisely ---- at present,
before it is too late.

will have been exhausted / are implemented

will be exhausted / would be implemented

would be exhausted / would have been
implemented

would have been exhausted / were implemented

were exhausted / were to be implemented

If microchips ---- back in the late 1950s, computer
technology ---- as advanced as it is today.

weren’t developed / isn’t

hadn’t been developed / wouldn’t be
wouldn’t have been developed / weren’t
wouldn’t be developed / wouldn’t be

weren’t being developed / won't be

A

1.

12

13.
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It is hoped that alternative forms of energy, such
as wind energy and geothermal energy, ---- more
widely used in the near future, once technical
problems ---- completely resolved.

A) become / had been

B) are becoming / will be

C) will become / are

D) have become / were

E) would have become / have been

Insects that live in colonies, such as ants, bees,
wasps, and termites, have long fascinated
everyone, ---- naturalists ---- artists.

A) among / with B) about / between
C)in/ of D) between / above

E) from / to

A gene giving humans a preference ---- sweet
foods was recently identified ---- researchers.
A) over / among B) on / with
C)to/at D) for / by

E) into / within

Diger sayfaya gecginiz.



14.

15.

16.

17.

18.

A

The existence of galaxies was not recognized
until the early 20" century, ---- since then galaxies
have become one of the focal points of
astronomical investigation.

A) even B) because C) but

D) if E) whether

A gemstone used in the making of jewellery must
be durable, ---- it cannot withstand the process of
being handled or shaped.

A) thus B) even if C) although

D) or else E) while

---- it has a great potential for creating new
organisms, experimental recombination of genes
is viewed by some scientists as dangerous and
unethical.

A) As long as B) Unless

C) Just as D) Before

E) Because

---- does geology provide a better understanding
of the Earth’s evolution and its present features,
but it also serves society in a variety of practical
ways.

A) Either B) So C) Not only
D) So long as E) Not once
Geometry, ---- name is derived from Greek words

meaning “earth measurement,” is one of the
oldest branches of mathematics.
A) as

B) which C) that

D) whose E) its

19.

20.

21.

22.

23.
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19. — 23. sorularda, asagidaki pargada numa-
ralanmis yerlere uygun diisen s6zciik ya da
ifadeyi bulunuz.

Air pollution is one of the major challenges that most
major cities face. The task of cleaning up air
pollution, (19)---- difficult, is not believed to be
insurmountable. Use of fuels that are low in
pollutants, such as low-sulphur forms of petroleum;
more complete burning of fossil fuels, often in (20)----
with a recycling of the pollutants; and the shift to less
polluting forms of power generation, such as solar
energy (21)---- place of fossil fuels — all are methods
that can be used for controlling pollution. Over the
past few decades, the example of London as well as
of some other cities (22)---- that 10 years or less is
enough to control this problem to a certain extent. In
fact, this period is (23)---- enough to achieve major
improvements in air quality.

A) though B) as if C) unless

D) whether E) in case

A) discrimination B) combination

C) purification D) authorization

E) utilization

A) over B) at C) for

D) by E)in

A) had shown

B) would have shown
C) will have shown
D) has shown

E) was showing

A) nor B) either C) as well as

D) neither E) also

Diger sayfaya gecginiz.



24,

25.

26.

24. - 35. sorularda, verilen ciimleyi uygun
sekilde tamamlayan ifadeyi bulunuz.

Whereas ordinary solids have a definite size and
shape, ----.

most liquids do, too

gases have none

their volumes are definite, as well

liquids don’t take the form of the container

gases consist of a vast number of molecules

Although rain forests occupy a very small
percentage of the land surface on Earth, --—--.
A) itis true that, in addition to high rainfall and
humidity, mild winters are good for them

B) most governments have introduced severe
measures to stop and eliminate environmental
pollution

they contain a very large variety of plant and
animal species that are mostly rare

many species living in those areas are faced with
the threat of extinction

the Brazilian government has long-term plans to
open up the Amazon basin for mining

----, but a significant part of this land is unsuitable
for either agriculture or habitation.

A) China’s first nature reserve was established in

the 1950s
China is located in Far East Asia

The population of China has been increasing
dramatically

One of China’s major problems is environmental
pollution

China covers a vast area in Asia

A

27.

28.

29.
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Experts fear that, unless significantly higher
yields are achieved with genetically modified
(GM) crops, ----.

A) genetic engineers are determined to continue to
work on crops that can grow in a shorter period
of time

B) these trends led to economic development and a
significant reduction in global hunger and poverty
C) certain circles are concerned about the possible
negative effects of GM crops on human health
D) massive environmental degradation will be the
inevitable result of trying to feed the world’s
increasing population

E) the impacts of climate change on agriculture will
not be fully understood in the years ahead

----, which, in turn, makes animal husbandry more
profitable than it used to be in the past.

A) People with rising incomes consume more meat
and livestock products

B) The world’s poor have been getting poorer and
less able to produce food

C) Much of the world’s starving population lives in
the sub-Saharan region, where farming is poor
D) Debate continues over whether climate change
will further reduce the world’s ability to feed itself
E) Most countries in Africa need to invest more in
their agriculture sectors

Physicists have established that, before the
universe existed in its present form, ----.

A) the Milky Way is one of billions of galaxies in the
universe

B) astronomy attracted many high school students
to study it in depth

C) all of its matter was concentrated in one mass
D) they knew what to look for

E) their existence would not have been

questionable

Diger sayfaya gecginiz.



30. Experts differ greatly in their estimates of the
number of plant and animal species, ----.

31.

32.

since the exact number of these species has
only recently been identified

but they all agree that the distribution of these
species is highly uneven

in case many of the currently endangered
species go extinct in the near future

unless they focus their attention on those
species that have increased in number

despite the fact that the populations of certain
species have soared dramatically

Atoms have several properties ----.

in case they have different numbers of protons
and electrons

in which they are the smallest particles of all
matter

that help distinguish one type of atom from
another

because physicists have split the atom into many
subatomic particles

while the electrons in an atom are very much
smaller than the protons and neutrons

Quantum theory specifies new rules for
describing the universe, ----.

A)

although efforts to explore it are continuing
as it is considered an ancient science

unless the universe cannot be described with the
help of its principles

just as it has introduced new ways of thinking
about matter and energy

for it has not been proven or validated
scientifically

A
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33. Climatologists are not certain about the number
of hurricanes that occurred worldwide before
1970, ----.

34.

35.

A)

B)

C)

D)

E)

although the historical data are too inconsistent
to allow firm conclusions

given that sea-surface temperatures are a key
driver of hurricane formation

since an unprecedented four hurricanes hit
Florida in the summer of 2004

which global warming has led to more intense
storms

when satellite observations became routine

Some of the world’s natural resources, such as
natural vegetation and solar energy, are
renewable, ----.

A)

which cannot be renewed easily at a low cost
while others like fossil fuels are non-renewable
since they are not reliable sources of energy

if conserving them is not possible

some of which are non-renewable

New bioplastics are a lot less hazardous to our
planet and our natural resources, ----.

A)

even though their reserves are gradually
shrinking due to increasing use by industries

as plastics cannot be degraded biologically like
organic materials

since they require less oil and energy to produce
than traditional plastics

so traditional plastics are used in a wide range of
industries, including textiles and packaging

for the damaging effects of plastic waste on the
environment are undeniable

Diger sayfaya gecginiz.



36. — 38. sorularda, verilen ingilizce ciimleye
anlamca en yakin Tiirkge climleyi bulunuz.

36. According to some physicists, the universe is

just a little lighter than a black hole of the same

size.

A)
evrenden sadece biraz daha agirdir.

B)
stirmektedirler.

C)
lik kadar hafif oldugunu varsaymaktadirlar.

D)
taki bir kara deligin agirligini gegmemektedir.

E)
ra delikten yalnizca biraz daha hafiftir.

37.
lizard fossil may re-determine the date when

flowering plants are believed to have emerged on

Earth.

A) Cicekli bitkilerin yerylziinde ortaya ¢iktigi tarihin
yeniden belirlenmesi, Japonya’da 130 milyon ya-
sinda bir kertenkele fosilinin kesfiyle gercekles-

migstir.

B) Japonya’da 130 milyon yasinda bir kertenkele

fosili kesfedildikten sonra, gigekli bitkilerin yer-

yuzinde ortaya ¢iktigina inanilan tarih yeniden

belirlenmistir.

C) Japonya’da 130 milyon yasinda bir kertenkele

fosilinin kesfi, gicekli bitkilerin yeryliziinde ortaya

ciktigina inanilan tarihi yeniden belirleyebilir.

D) Japonya’da 130 milyon yaginda bir kertenkele

fosilinin kegfedilmesinden dnce, cigekli bitkilerin
yerylziinde daha yakin bir zamanda ortaya ¢ik-

tigina inaniliyordu.

E) Japonya’da 130 milyon yaginda bir kertenkele

fosilinin kegfedilmesiyle, ¢icekli bitkilerin yeryu-
ziinde ortaya ¢iktigina inanilan tarih yeniden be-

lirlenmistir.

Bazi fizikgilere gore, bir kara delik, ayni boyuttaki

Bazi fizikgiler, evrenin, ayni buyUklikteki bir kara
delikten, sadece biraz daha hafif oldugunu 6ne

Bazi fizikgiler, evrenin, ayni boyuttaki bir kara de-

Bazi fizikgilere gore, evrenin agirhdi, ayni boyut-

Bazi fizikgilere gore, evren, ayni boyuttaki bir ka-

The discovery in Japan of a 130-million-year-old

A

38.

39.
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With an estimated 200,000 species of plants and
animals, Madagascar is among the top five most
biologically diverse countries in the world.

A) Asagi yukari 200.000 bitki ve hayvan tirtine
sahip olan Madagaskar, biyolojik gesitliligi en
fazla olan diinyadaki ilk bes Ulkeden biridir.

Biyolojik ¢esitlilik bakimindan diinyanin en
onemli bes llkesinden biri olan Madagaskar,
tahminT olarak 200.000 bitki ve hayvan tirtine
sahiptir.

Madagaskar’in sahip oldugu bitki ve hayvan tiri
200.000 civarindadir ve boylece diinyada biyolo-
jik cesitliligi en zengin olan ilk bes Ulke arasinda-
dir.

Madagaskar, gerek zengin biyolojik gesitliligi ve
gerek sahip oldugu 200.000 civarindaki bitki ve

hayvan turiyle, dinyanin ilk bes Ulkesi arasinda
yer almaktadir.

Tahmini 200.000 bitki ve hayvan turiiyle, Mada-
gaskar, diinyada, biyolojik olarak en ¢ok ¢esitli-
lige sahip, ilk bes ulke arasindadir.

39. — 41. sorularda, verilen Tirkge climleye
anlamca en yakin Ingilizce ciimleyi bulunuz.

X-1g1n1 goriintilleme yontemleri, kiriklarin tanilan-
masini bir yiizyildan fazla zamandir daha kolay
kilmistir, ancak X-isinlari, her zaman daha ince
ayrintilarin saptanmasinda yardimci olamaz.

A) Although the diagnosis of fractures has been
easier for over a century, thanks to X-ray
imaging methods, X-rays do not always help to
detect the finer details.

B) X-ray imaging methods have made diagnosing
fractures easier for more than a century, but X-
rays cannot always help to detect the finer
details.

C) For over a century, it has been much easier to
diagnose fractures thanks to X-ray imaging
methods, even though X-rays fail to detect the
intricate parts.

D) X-rays have helped to detect the inner parts of
fractures, and, therefore, the diagnosis of
fractures has been much easier for over a
century.

E) Thanks to X-ray imaging methods, the diagnosis
of fractures has been possible for more than a
century, but the details of fractures cannot
always be detected fully.

Diger sayfaya gecginiz.



40. Her element, diger bir elementin atomlarindan
farkl, tek tip atomdan olusur.

A)

B)

An element contains only one type of atom,
entirely different from other atoms.

The kind of atom that makes up an element is
usually different from the atoms of other
elements.

Each element consists of one kind of atom,
which is different from the atoms of any other
element.

The atoms that each element has are completely
different from those of other elements.

Each element has one set of atoms which are
very different from the atoms of all the other
elements.

A
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41. Cin’deki sanayilesme, oyle biiylik ¢cevresel degi-
sikliklere yol agmistir ki fabrikalarin yarattig: kir-
lilik daglik alanlardaki yagisi, yiizde 50’ye varan
miktarda diisiirmiistiir.

A)

B)

C)

D)

E)

Industrialization in China has brought about such
massive environmental changes that pollution
created by factories has reduced the rainfall in
mountainous areas by as much as 50 per cent.

Massive environmental changes in China have
resulted from industrialization, and,
consequently, the rainfall in mountainous areas
has dropped as much as 50 per cent due to the
pollution caused by factories.

The amount of the rainfall in the mountainous
areas in China has fallen by as much as 50 per
cent because of the pollution caused by
factories, as massive industrialization led to
environmental changes.

Industrialization in China has caused so much
environmental change that the amount of the
rainfall in the country’s mountainous areas has
fallen 50 per cent due to the pollution brought
about by factories.

China’s industrialization has led to extensive
environmental changes — so much so that,
because of the pollution caused by factories, the
rainfall in mountainous areas has dropped to 50
per cent.

Diger sayfaya gecginiz.



42.

43.

42. — 46. sorularda, bos birakilan yere, parca-
da anlam biitiinliigiinii saglamak igin getirile-
bilecek ciimleyi bulunuz.

Photosynthesis, the process by which green
plants and certain other organisms use the
energy of light to convert carbon dioxide and
water into simple sugar glucose, occurs in green
plants, seaweeds, algae, and certain bacteria.
These organisms are veritable sugar factories,
producing millions of new glucose molecules per
second. ---- Some plants produce more glucose
than they use, however, and they store it in the
form of starch and other carbohydrates in their
roots, stems, and leaves.

A) The sugar we use in our everyday lives is
derived from plants like sugar cane and is
processed in factories.

B) An extremely important by-product of
photosynthesis is oxygen, on which most
organisms depend.

C) Being unable to produce it, humans and other
animals rely on the glucose produced by these
organisms.

D) Plants use much of this glucose as an energy
source to build leaves, flowers, fruits, and seeds.
E) In plants, photosynthesis occurs in leaves and
green stems within specialized cell structures
called “chloroplasts”.

Insects are often regarded as pests because
some bite, sting, spread diseases, or compete
with humans over crop plants. ---- Without
insects to pollinate flowers, the human race
would soon run out of food because many of the
crop plants that we rely on would not be able to
reproduce. In addition, insects themselves are
valued as food in many parts of the world. Also,
they help to recycle organic matter by feeding on
wastes and on dead plants and animals.

A) Therefore, humans use chemicals to get rid of
harmful plants growing among agricultural crops.
B) Scientists have so far been able to identify about
one million species of insects.

C) Nevertheless, they are of undeniably great value
to nature and to humans.

D) Pollination is the process by which most plants
reproduce, but there are exceptions.

E) While some insects protect themselves with their
poison, others use camouflage.

A

44,

45.
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---- As a residential fuel, it is burned in furnaces,
water heaters, cooking stoves, and clothes
dryers. As an industrial fuel, it is burned in
special furnaces to bake bricks and ceramic tiles
and to produce cement. In addition to its use as a
fuel, natural gas serves as a raw material for
creating petrochemicals, which are used as a
base product for fertilizers, detergents,
pharmaceuticals, plastics, and numerous other
goods.

A) Historical records show that natural gas was
burned as a fuel as early as 250 A.D. in China.
B) There is a growing concern among developed
nations about the future availability of energy
sources.

Among the most common residential fuels are
natural gas, coal, and bottled butane and
propane.

Natural gas is used both as a fuel and as a raw
material in the manufacture of chemicals.

The use of fossil fuels is generally regarded as
harmful to the environment, since it is a major
cause of global warming.

Ecology is the study of the relationship of plants
and animals to their physical and biological
environment. The physical environment includes
light and heat or solar radiation, moisture, wind,
nutrients in soil, water, and atmosphere. The
biological environment includes organisms of the
same kind as well as other plants and animals.
---- For this reason, it draws upon such fields as
climatology, hydrology, oceanography, physics,
chemistry, geology, and soil analysis as well as
animal behaviour, taxonomy, physiology, and
mathematics.

A) Different kinds of organisms often share the
same environment, which makes the relationship
between them significant.

However, due to the climate and other natural
factors, physical and biological environments
show great diversity in the world.

An increased public awareness of environmental
problems has made ecology a common but often
misused word.

Our understanding of environmental problems
has increased by a very large extent over the
last few decades.

Although the field is a distinct scientific discipline,
it has a close relationship with other disciplines.

Diger sayfaya gecginiz.
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46. The principle of all the sciences, including
physics, is generally considered to be the
ordering of the complex appearances detected by

47. — 51. sorularda, karsilikli konugsmanin bos
birakilan kismini tamamlayabilecek ifadeyi bu-

our senses. In other words, this is the ordering of lunuz.
what we often refer to as the “world around us”.
In fact, many people think of science as a 47. Joseph:
mechanical process of collecting facts. ---- - I read that Taiwanese researchers have
Essentially, science is a creative activity that in developed a motorcycle that runs on
many respects resembles other creative activities compressed air.
of the human mind.

. Maria:
A) This is not the case at all. - So, what’s so special about it?
B) Aristotle believed that the natural state of an Joseph

object is to be at rest. ol

C) It was Galileo who founded our modern view of Maria:

motion. - Oh, then it really is a significant invention.

D) As aresult of Einstein’s theory of relativity, our
concepts of space and time have been
completely altered.

A) The prototype has not aroused much interest
among the public yet.

E) The list of ways in which physics, for example, B) It requires electricity to compress the air.

relates to other fields is extensive. C) Well, it could help to solve the problem of

pollution.

D) Actually, they have been working on it for quite
some time.

E) Well, they might soon start mass producing
them.

Diger sayfaya gecginiz.



48.

49.

Customer:
- I'd like to buy a good camera for a reasonable
price. What would you recommend?

Shop assistant:

- Well, we have this professional series, with
which you can get extra high-resolution images
and at least three types of lenses. Their prices
start from $3,000.

Customer:

Shop assistant:

- Then, maybe you’d consider one from this
series, which comes with only the standard
lens, but can be upgraded when necessary.
Plus, they provide equally high-resolution
images.

A) Oh, | didn’t expect that they would be so simple.

B) Actually, photography has been a major interest
of mine for a long time.

C) Ican see you are very informed about cameras.

D) Oh, | don’t think | want something so
professional.

E) Well, that really is a good value.

Thomas:

- Did you know that e. coli, the bacteria that
upsets stomachs and kills people, can actually
be useful?

Julie:
- How so?

Thomas:

Julie:
- Wow! That means it is going to serve as an
alternative energy source.

A) You know, it is actually present in the intestines.

B) Well, scientists have genetically engineered it to
excrete biodiesel.

C) It obtains the energy it needs from the intestinal
flora.

D) The new method involves mixing the bacteria
with sugar cane.

E) The newly-developed biodiesel is not as efficient
as a fossil fuel.

A

10
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50. Jeffrey:

51.

- The swine flu outbreak seems to have emerged
without warning, don’t you think?

Nathan:
- Yes, you have a point. But | think the virus
existed for some time before it was discovered.

Nathan:

- The answer is likely “yes”, if more attention had
been paid to the human-animal interactions that
enable new viruses to emerge.

A) Do you think governments have taken the

necessary measures against it?

Could there be a more effective way of
monitoring the course of the disease?

Do you think the world faces more pandemics
like this one?

Couldn'’t it have been detected and the spread of
it prevented?

Do you think vaccination against such
pandemics would solve the problem?

Peter:

- Weren’t you thinking of getting a new job as a
laboratory assistant? Well, here is an
advertisement.

Joanna:
- Oh, | have already seen that one, but I’'m not the
one they are looking for.

Joanna:

- Yes, all but a very important one. I'm not a
British citizen.

A) Don’t you want to work in Britain?

But why? You meet all the requirements.

Why? Don’t you have a licence to work as a lab
assistant?

Are they looking for better qualified people?

You're wrong; I’'m sure they don’t care about
citizenship.

Diger sayfaya gecginiz.



52.

53.

54.

A

52. — 56. sorularda, ciimleler sirasiyla okun-

dugunda parganin anlam biitiinliigiinii bozan
ciimleyi bulunuz.

(I) The Anacostia River, which flows through the
heart of Washington, DC, is just one of dozens of
severely polluted rivers in the US. (ll) It is
contaminated with the molecular remnants of dyes,
plastics, asphalt, and pesticides. (lll) Recent tests
have shown that up to 68% of the river’'s brown
bullhead catfish suffer from liver cancer. (IV) Water
pollution comes from many sources, such as
wastewater from textile and pulp mills, agricultural
waste, and residential sewage. (V) Wildlife officials
recommend that anyone who catches the river’s fish
toss them back uneaten, and swimming has been
banned.

A)l B) Il C)

D)IV  E)V

(I) Weight, lift, thrust, and drag are the four primary
sources acting upon an airplane. (ll) Since the 1950s,
aircraft technology has developed at an amazing
speed, making especially great advances in thrust.
(1) Weight, which is the force caused by gravity, is
also the force that offsets lift, which is the upward
force on the plane, because it acts in the opposite
direction. (IV) Thrust, which is provided by a propeller
or a jet engine, or a combination of the two, is the
force that pushes the airplane forward in the air.

(V) The fourth force, drag, is created by the friction
that the airplane produces when moving through the
air.

A)l B) Il c)u

D)IV  E)V

(I) Volcanic eruptions in populated regions are a
significant threat to people, property, and agriculture.
(I1) The danger is mostly from fast-moving hot flows
of explosively erupted materials, falling ash, and
highly destructive flows of lava and volcanic debris.
(1l1) On the contrary, they can also be rich in natural
resources, especially with the materials that they
erupt. (IV) In addition, explosive eruptions, even from
volcanoes in unpopulated regions, can eject ash high
into the atmosphere, posing a danger to distant
populations. (V) Such explosions also create drifting
volcanic ash clouds that represent a serious hazard
to airplanes.
A)l B) Il c)ym

D)IV  E)V
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55. (I) Water vapour is the most common greenhouse

gas in the atmosphere, accounting for about 60 to 70
per cent of the natural greenhouse effect.

(II) Humans do not have a direct effect on water
vapour levels in the atmosphere. (lll) But human
activities do increase the concentration of other
greenhouse gases in the atmosphere, producing
warmer temperatures. (IV) Indeed, global warming
has now become one of the most passionately
argued issues of our time. (V) This results in an
increase in the evaporation of oceans, lakes, and
rivers, raising the amount of water vapour in the
atmosphere.
A)l B) Il c)u

D)IV  E)V

56. (I) For a long time, science was more or less a united

whole known as “natural philosophy,” and wasn’t that
far removed from art. (Il) Then, in the 18" century,
the distinctions between the scientific fields began to
appear. (lll) Later, in the 19™ century, to take two
examples, physics and chemistry went their separate
ways. (IV) Actually, several physicists in the 1930s
and 1940s tried to apply their knowledge to
microbiology. (V) So, the sharp border that we now
see between the arts and sciences is but only a few
centuries old.
A)l B) I c)nm

DIV  E)V

Diger sayfaya gecginiz.



57.

57. - 60. sorular asagidaki pargaya gore
cevaplayiniz.

Palaeontology was once limited to digging up fossils
and trying to deduce their age with inaccurate
methods. However, fossil analysis improved
dramatically in the 1960s, with the advent and
refinement of two techniques: radiometric dating and
stratigraphy. The first radiometric method was also
known as carbon-14 dating, and it was usable for
specimens younger than 50,000 years. Later,
potassium-argon dating revolutionized the field by
enabling scientists to detect the radioactive decay of
elements found naturally in rocks and soil
surrounding much older fossils. Stratigraphy, which is
the study of rock layering, actually was developed
well before the 1960s, but that was the decade
scientists began to better understand how geological
conditions, earthen layers, and fossil records all
relate. The resulting refinement of biostratigraphy,
i.e., the study of the complete life of a stratum of
earth, allowed scientists to determine the
environment and lifestyle of human ancestors based
on fossilized flora and fauna found within the same
layer as the hominine fossils. Since the 1960s, DNA
testing has come to be used widely. As all living
organisms have the same genetic code, scientists
can use DNA variations as a molecular clock. After
splitting with a common ancestor, each generation
develops a constant rate of genetic mutations. The
molecular clock allows scientists to calculate how
long ago the split occurred based on the number of
differences between species. The method is now
helping scientists map the routes that humans took
out of Africa.

It can be understood from the passage that the
carbon-14 method ----.

involves the use of radioactivity to make fossils
decay

can be used to date fossils of any age
revolutionized potassium-argon dating
was no longer practiced after the 1960s

was the earliest form of radiometric dating

A
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58. Itis clearly stressed in the passage that, before

59.

60.

the development of different dating methods, ----.
A) the molecular clock was used by scientists to
determine the age of fossils

B) the age of fossils could not be determined
reliably

C) palaeontology was regarded as a field of study
that was only concerned with the excavation of
fossils

D) it was impossible to know whether Africa was the
home of the first human beings

E) only the age of fossils which were older than

50,000 years could be determined accurately

According to the passage, stratigraphy ----.
A) helped scientists to understand the relationship
among only fossil records

B) deals mainly with vegetative life in a given region

C) started to be used in the study of fossils long
after its emergence as a science

D) later established the basis for DNA dating

E) allowed scientists to refine the methods of
biostratigraphy

The passage is mainly concerned with ----.
A) the advanced methods palaeontologists use to
date fossils

B) how palaeontology came to be recognized as a
field of science

C) recent advances made in the study of genetic
mutations

D) the development of DNA testing and its use in
deciphering the genetic code

E) the relationship between humans and the
environment they live in

Diger sayfaya gecginiz.



61.

A

61. — 64. sorular asagidaki pargaya gore
cevaplayiniz.

Baleen whales and toothed whales each have a
unique way of vocalizing. Only baleen whales
produce long sequences of deep sounds known as
whale songs. They have a larynx, an organ at the top
of the trachea, which may be involved in sound
production. Researchers are unclear about the
organ’s role in the songs as whale larynxes are unlike
those of humans, which have vocal chords. Toothed
whales, on the other hand, rely on sequences of
high-pitched clicks and whistles for both echo
location and communication with their mates. Their
phonic lips, a structure analogous to human nasal
passages, press together when air is forced through
them, vibrating the surrounding tissue. The sound
waves then penetrate an oily organ in the whale’s
head, called the “melon”, where they are focused into
a beam of sound. When this beam strikes a fish, the
seabed, or another object, the sound is reflected
back to the whale as an echo. Toothed whales can
thus locate prey and navigate in total darkness.
However, during their long, deep dives, toothed
whales cannot inhale air every time they want to
produce a sound. So they collect it in a sac at the
back of their head and reuse it.

It is pointed out in the passage that there is some
uncertainty as to ----.

A) why both baleen and toothed whales use sounds
in order to find their ways

B) whether toothed whales can travel long
distances in the sea without inhaling fresh air

C) how a baleen whale’s phonic lips function in the
production of sound

D) how baleen whales produce sound

E) how far whale songs travel in the sea when
whales communicate with their mates
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According to the passage, baleen whales are
different from toothed whales because they ----.

A) use their trachea to produce sounds
B) communicate with other whales through whistles

C) can dive to immeasurable depths and find their
ways in full darkness

D) are much more efficient in locating feeding areas
in the sea

E) produce what is called the “whale song”

It is clear from the passage that toothed whales

A) can hardly find where their prey is located

B) navigate through the echoes of the sounds they
make

C) often come up to the sea surface to inhale
enough air

D) generally swim close to the seabed while they
are hunting

E) are better hunters than baleen whales, especially
in deep waters

The passage ----.

A) doesn’t explain clearly how toothed whales
vocalize

B) gives a full account of the study researchers
have made of baleen whales

C) focuses more on toothed whales than on baleen
whales

D) points out the similarities of sound production in
whales and human beings

E) describes in detail how toothed whales hunt in
total darkness

Diger sayfaya gecginiz.



65. — 68. sorular asagidaki pargaya gore
cevaplayiniz.

The human population continues to grow by more
than 75 million people annually. Since the first Earth
Day in 1970, emission rates have remained steady at
about 1.2 metric tons of carbon per person per year.
Unfortunately, the 1997 Kyoto Protocol has had little
measurable effect on these per-capita emissions,
even in the countries that have agreed to national
targets. More than any other factor, population
growth drives rising carbon emissions, and the US
Census Bureau and United Nations both project that
the global population, currently 6.6 billion, will
surpass 9 billion before 2050. The implication is that
one of the best strategies for reducing future
greenhouse gas emissions is population stabilization,
as quickly as can be achieved by noncoercive
means.

65. It is suggested in the passage that one feasible

way of reducing greenhouse gas emissions in the
future ----.

A) may be through the control of population growth

B) is through the enlargement of the measures

included in the 1997 Kyoto Protocol

will be through the assignment of more
responsibility to the United Nations

can best be found through cooperation among all
the countries in the world

depends to a large extent on the revision of the
1997 Kyoto Protocol

A
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One understands from the passage that the 1997
Kyoto Protocol ----.

A) was originally inspired by the celebration of Earth
Day in 1970

B) can be considered a major achievement by the

United Nations and the United States

C) does contain a set of extremely harsh sanctions

on gas emissions

has been most effective in the reduction of
greenhouse gas emissions

D)

E) has been largely disregarded by the countries

that have signed it

It is emphasized in the passage that annual
population growth in the world ----.

A) can be reduced effectively through the
implementation of the Kyoto Protocol
B) has the effect of raising the amount of carbon
emissions

C) plays no role in the increase in greenhouse gas
emissions

D) is constantly watched by the US Census Bureau
so that it can be kept stable

E) has alarmed many countries and forced them to
take measures to prevent it

As claimed in the passage, by 2050, the world’s
population will --—--.

A) increase by more than half
B)

C)

definitely reach a stable level
cease to have any effect on gas emissions
D) have a much lower growth rate

E) decrease by 75 million people per year

Diger sayfaya gecginiz.



69.

69. — 72. sorular asagidaki pargaya gore
cevaplayiniz.

Scientists are exploring ways of producing spider silk
artificially, a process difficult to repeat effectively. A
spider’s silk gland is a very efficient chemical factory.
Inside its gland, the spider stores a mixture of liquid
proteins, which it is able to transform into light, strong
fibres. Artificial spider silk could have many
applications, from lightweight and durable packing
materials to parachutes, surgical sutures, and even
bullet-proof vests. Producing it synthetically is a two-
part process: scientists must first manufacture the
proteins and then find a way to form them into
superfine threads. They have had success with the
first part, by producing proteins through genetic
modification. Binding proteins into fibres as thin and
strong as spider silk, however, has proved to be a
challenge. Recently, however, a group of German
scientists have attempted to solve that problem by
using a device modelled on a spider’s glands. Like
the arachnid method, the proteins are mixed with
potassium phosphate, and then the pH is lowered
before pressure is applied as the mixture flows
through tiny channels, hardening and binding the
proteins. So far, researchers have been able to make
fibres of only a fraction of an inch long, but they hope
to be able to produce longer, stronger fibres in the
future.

As stressed in the passage, with regard to the
production of artificial spider silk, the main
problem is ----.

the difficulty in mixing proteins with potassium
phosphate

that scientists are not seriously interested in it

how to make fibres as fine and long as natural
spider silk

whether the material can be used for various
purposes

whether it can be commercially and
technologically viable

A
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According to the passage, artificial spider silk ----.

A) could have various uses in industry

B) is produced only in chemical factories

C) is commonly known as a very profitable product

D) is a material that has already had a wide range
of applications

E) is currently being produced in threads longer

than an inch

It is clear from the passage that natural spider
silk is produced ----.
A) in large quantities for use in the production of
various materials

B) only when the spider’s silk gland has stored
enough liquid proteins

C) shortly before the spider’s silk gland undergoes a
chemical reaction

D) through the transformation in the spider’s silk
gland of liquid proteins into fibres

E) even though the spider’s silk gland fails to have

an adequate amount of liquid protein mixture

It is pointed out in the passage that, in making
synthetic silk, scientists have so far been
successful in ----.

A) imitating the entire natural process of silk
production

B) producing fibres suitable for parachutes and
bullet-proof vests

C) understanding the importance of proteins

D) producing artificial fibres about an inch in
thickness

E) obtaining the necessary proteins through genetic
modification

Diger sayfaya gecginiz.



73. - 76. sorular asagidaki pargaya gore
cevaplayiniz.

An organism discovered deep in the ground has
taken astrobiologists by surprise. The organism’s

unique ability to live in complete isolation from other
species, or even light or oxygen, suggests it could be
the key to life on other planets. It was discovered in
fluid-filled cracks in a South African gold mine, nearly
three kilometres beneath the Earth’s surface. When
US scientists analyzed the fluid, they expected to find
genes from a mix of species. Instead, they found that

99.9 per cent of the DNA belonged to just one
bacterium, a previously unknown species. Such a
self-sufficient organism is virtually unheard of. It

means that this organism extracts everything it needs
from an otherwise dead environment. Almost all other

known organisms on the Earth that do not use
sunlight directly do use some product of

photosynthesis. However, this newly-found organism
gets its energy from the radioactive decay of uranium
in the surrounding rocks. It also has genes to extract

carbon and nitrogen from its environment, both of
which are essential for making proteins. Scientists

believe that this organism is just the type that could

survive on a planet other than the Earth.

73. As suggested in the passage, for scientists, the

newly-discovered organism ----.

can be useful in preventing environmental
deformation

is unique only to Africa’s ecosystem
can provide clues about life on other planets
seems to reveal the beginnings of life on the

Earth

is plenty of protein

can survive only in an environment where there

A
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74. According to the passage, upon the analysis of
the fluid found in a South African gold mine,
scientists have learned that ----.

75.

76.

A)

B)

C)

D)

E)

proteins discovered in it were made through
carbon and nitrogen

it contained only one type of organism, unlike
any of those already known

the Earth and other planets have similar
environmental conditions

the radioactive effects of uranium can be seen
very deep down in the Earth

all kinds of organisms can be found not only on
the Earth but also on other planets

It is clear from the passage that what makes the
newly-found organism unique is that it ----.

A)

B)
C)
D)
E)

lives in an environment that lacks any kind of
organic life

can survive only through photosynthesis
feeds on the remains of dead organisms
does not have to produce proteins

exists only in the depths of the Earth

One understands from the passage that
astrobiologists ----.

A)

B)

C)

D)

E)

have focused all their efforts on the search for
life on other planets

regard organisms as indispensable for the
solution of environmental problems

were astonished by the discovery of so unusual
an organism in the depths of the Earth

have now shifted their attention to the study of
organisms deep in the Earth

have been particularly interested in the DNA
structure of a large variety of organisms

Diger sayfaya gecginiz.



A

77. - 80. sorular asagidaki pargaya gore
cevaplayiniz.

A scientific view of something is always an intimate
mixture of theories and observed facts. The theories
are broad, general ideas together with arguments
based on them. The arguments are designed to show
that, if the general ideas are accepted, then this or
the other thing ought to be observed. If this, that, or
the other actually is observed, then the theory is a
good one; if not, then the theoreticians have to think
again. Thus, theoretical ideas and arguments are
continually subjected to the severe test of
comparison with the facts, and scientists are proud of
the strictness with which this is done. On the other
hand, theories often suggest new things to look for; in
other words, they lead to predictions. These
predictions are frequently successful, and scientists
are entitled to be proud of that, too. But it follows that
no theory is immutable; any scientific view of any
subject may, in principle, be invalidated at any time
by the discovery of new facts.

77. The point made in the passage is that theories

are subject to revision or may lose their validity

A) if and when new facts are brought to light

B) so long as they are not supported through
arguments

C) because the arguments about them are not
based on facts

D) even though they have been tested and
compared with facts

E) due to the fact that most of the observations they
are based on cannot be tested
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78. Itis asserted in the passage that, when

79.

80.

something is understood scientifically, ----.

A) it shows how essentially the theory rather than
the observation is important

B) this involves not only the relevant theory but also
an observation of facts themselves

C) this means the rejection of the arguments put
forward against it

D) the predictions made so far lose their
significance and are not taken into consideration

E) this is because new facts have not been
discovered yet

It is clear from the passage that theories ----.
A) usually provide guidelines for new discoveries

B) always arouse a great deal of controversy
among scientists

C) sometimes exist separately from observed facts

D) can be maintained unless they are validated by
new facts

E) are specific formulations that are taken for
granted by many scientists

According to the passage, the validity of a theory

A) can seldom be rejected once all the theoreticians
share a common view

B) is always hard to maintain, since scientists
usually come up with contrary views

C) can only be established after a series of
arguments put forward by various theoreticians

D) is determined through the test of its comparison
with observed facts

E) always makes scientists proud of their work for
the progress of science

TEST BITTi.
CEVAPLARINIZI KONTROL EDINiz.



A

INGILIZCE
SAGLIK BILIMLERI TESTI

1. — 18. sorularda, ciimlede bos birakilan yer-
lere uygun diisen sozciik ya da ifadeyi bulu-
nuz.

1. The ---- of potassium in the human body is

dramatically demonstrated when too much or too
little of it is secreted.

A) comparison B) attribution

C) significance D) marginality

E) demand

. In the past decade, technology has become ---- to
freeze human embryos and then successfully
transplant them into host mothers, thereby giving
some young women the option of postponing
childbirth.

A) appropriate B) negligible

C) potential D) degraded

E) available

. Most multiple-sclerosis patients suffer weakness
and visual problems, and they become ---- more

disabled.
A) hardly

B) progressively  C) absolutely

D) solely E) plausibly

. Traditionally, medicine has taken a paternalistic
stance towards patients, with the all-knowing
physician ---- wisdom from on high, but that is
becoming increasingly unacceptable.

A) informing

B) withdrawing C) requesting

D) providing E) commenting

18
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5. Short-term memory records the information in

front of us right now, though a portion of this
seems to evaporate soon afterward; the
remainder ---- a process in the brain called
consolidation, which makes it permanent.

A) goes through B) gives off
C) gets away with D) puts off

E) comes up with

. More than 350,000 people in the UK (25,000 of

them children) suffer from Type | diabetes, an
auto-immune condition that is ---- by a variety of
largely unknown genetic and environmental
factors.

A) taken part in B) brought about

C) cut down on D) done away with

E) got over

. For a long time, scientists ---- by the fact that the

French ---- to eat fatty diets rich in red meat but to
live as long as those on lean and vegetarian
diets.

A) had been intrigued / are tending

B) were intrigued / would have tended

C) would be intrigued / have been tending

D) will have been intrigued / would tend

E) have been intrigued / tend

Diger sayfaya geginiz.



8. Although people ---- with both “good” brown fat

10.

cells and normal white fat cells, usually the
former ---- after infancy.

A) have been born / lose
were born / will lose
are born / are lost

had been born / had lost

are to be born / had been lost

As part of an effort by the UK government to
track down people at risk of a heart attack, British
doctors ---- to investigate the family history of
those of their patients who ---- high cholesterol.
had been told / are having

are telling / have had

would be told / will have

have been told / have

had told / had had

The latest research finding that older adults are
generally happier than younger ones ----
superficially at odds with many studies that ----
older people are at higher risk for depression and
other mental health problems.

seems / have found

seemed / will find

has seemed / would find

had seemed / have been finding

could have seemed / would have found

A
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In Britain, the highest-level medical jobs continue
to be dominated by men of 55 or more, but these
distinguished consultants and professors ----
within the next ten years, and this ---- more
women to reach the top tier.

A) will have been retiring / is allowing

B) have retired / allowed

C) would have retired / will be allowing

D) had been retiring / has allowed

E) will be retiring / will allow

In the late 1950s and early 1960s, 85,000 baby
teeth were collected ---- children in the
Midwestern US as part of a study of a possible
link ---- the testing of atomic bombs and human
health.

A) around / beside B) with / from
C) inside / throughout D) from / between

E) under / among

Evidence clearly shows there is a preventive
effect ---- aspirin and other anti-inflammatory
drugs ---- colorectal cancer.

A) after / with B)on/to
C)of/on D) without / by

E) between / beside

Diger sayfaya gecginiz.



14.

15.

16.

17.

18.

---- the so-called swine flu turns out to be less
frightening than first feared, it is only a matter of
time before a deadlier one comes along.

A) Unless

B) Even if C) Whether

D) While E) When

All efforts by the Chinese government to
eliminate the most widespread parasitic infection
in the country failed, ---- a new drug arrived in the
1980s that was said to be highly effective in
controlling the disease.

A) just as

B) so that C)in case

D) even after E) whereby

After Hurricane Katrina hit the US city of New
Orleans in 2005 and left it without electricity for
many weeks, mold and spores easily grew in the
still-habitable houses, ---- respiratory and skin
problems are still widespread.

A) because

B) so C) although

D) yet E) whenever

Many surgeons believe that a patient ---- face
bears a calm expression immediately before an
operation is likely to require less anaesthesia
during the procedure.

A) what

B) which C) whatever

D) that E) whose

In the developing world, the public-sector health
care infrastructure is typically overwhelmed,
which is not surprising considering ---- national
governments spend on health as a share of
national income.
A) how little

B) few C) so much

D) just as much E) how many
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19. — 23. sorularda, asagidaki pargada numa-
ralanmis yerlere uygun diisen s6zciik ya da
ifadeyi bulunuz.

Ultraviolet (UV) light from the sun is classified into
three types: ultraviolet A (UVA), ultraviolet B (UVB),
and ultraviolet C (UVC), depending on its
wavelength. UV light in small amounts is (19)----, as it
helps the body produce Vitamin D. (20)----, larger
amounts of UV light damage DNA (the body’s genetic
material) and alter the amounts and kinds of
chemicals (21)---- the skin cells make. UV light also
(22)---- folic acid, sometimes resulting in deficiency of
that essential vitamin in fair-skinned individuals.
Although UVA penetrates deeper (23)---- the skin,
UVB is responsible for at least three quarters of the
damaging effects of UV light, including tanning,
burning, premature skin aging, wrinkling, and skin
cancer.

A) neutral B) beneficial

C) indeterminate D) minimal

E) economical

A) Additionally B) Similarly
C) However D) Indeed
E) Otherwise
A) that B) what C) where

D) whatever E) wherever

A) should break down

B) must break down

C) broke down
D) might have broken down

E) may break down

A) with B) from C) into

D) without E) beside

Diger sayfaya gecginiz.



24,

25.

26.

24. - 35. sorularda, verilen ciimleyi uygun
sekilde tamamlayan ifadeyi bulunuz.

Since the response to a cholera outbreak is often
led by medical professionals, ----.

A) epidemics can easily escalate into pandemics
when medications are scarce

B) another disease should be chosen by those in
charge

C) doctors and nurses must learn to cooperate in
emergency and non-emergency situations alike

D) other aspects, such as environmental or
communication issues, might tend to be
neglected

E) cholera often results in severe dehydration and

even death

---- that is often associated with extreme
tiredness.

A) Medical investigators decided to study the
biochemical clock that keeps bodies running
parallel with the sun

B) Molecular biologists are feverishly at work on a
new research project

C) Most disorders requiring surgery during
pregnancy centre on the abdominal region
D) Occupational safety regulations issued by the
US government have resulted in an industry
record

E) Rheumatoid arthritis is one example of a disease

If it is proven to be successful in clinical studies,

A) significant results in scar reduction have already
been reported by the University of Manchester
B) an experimental drug has been designed to
reduce certain types of scarring

C) this new preparation comes after decades of
research into its anti-scarring properties

D) the new treatment could be used in the early
management of wounds from surgery and injury
E) patients are being told not to get their hopes up
of the treatment being available soon

A
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Although it has a shameful history of sabotaging
the many attempts to bring universal health care
to the American people, ----.

A) the medical-insurance industry now accepts the
need for radical changes in this area

B) political leaders are increasingly unhappy about
the opposition of the insurance industry

C) atypical insurance company does not want to
see such a model introduced in the US

D) many politicians agree with the position
traditionally taken by these companies
E) a majority of the population is frightened of the
government interfering in their relationships with
their insurers

Although it is not an automatic correlation, ----.
A) shock-absorbing shoes with cushioned soles
have long been considered better for runners
B) there are two types of diabetes, Type | and Type
Il

C) people who have a family history of cancer may
be at greater risk for the disease

D) cholesterol-lowering drugs are covered by the
more comprehensive medical-insurance plans
E) one’s doctor should inspire a feeling of trust, not
fear

Ever since scientists learned how to manipulate
genes, ----.

A) doctors and patients have pinned their hopes on
this knowledge being transmuted into readily
available medical procedures

B) advances in gene therapy are expected to be
announced by research teams in Japan and
Argentina in the near future

C) all gene therapy rests on the idea that the
patient’s genes can be manipulated in such a
way that the organism fixes itself

D) various other therapies, such as bone-marrow
transplants, have proved inadequate in making
headway against the rare disorder of severe
combined immuno-deficiency

E) no clinical trial expects to get ultimate approval in
the near future by health authorities in the US
and Europe

Diger sayfaya gecginiz.



30. Laser light usually passes easily through bone,

31.

32.

A) except in cases where its use has been ruled out

B) unless the diagnosis is incorrect

C) as will many orthopaedic surgeons

D) whereas bone seldom displays resistance to it

E) but sound does not

----, he was one of three people awarded the 2008
Nobel Prize for Medicine.

A) Only if Harald zur Hausen’s earlier work with
retroviruses is excluded

B) Unless scientists other than Harald zur Hausen
had not received credit for their discoveries

C) Unlike the medical breakthroughs achieved by
other men that had been honoured previously

Because Harald zur Hausen had discovered that
human papilloma viruses cause cervical cancer

D)

E) Now that human papilloma viruses are known to

cause cervical cancer

----, many women will welcome the opportunity to
take some preventive action against bone
thinning.

A) As they enter middle age

B) Despite the fact that their emotional outbursts
are seldom justified

C) Knowing that sports injuries are almost inevitable
in the highly active

D) Unless they are told to do so by their doctors

E) When doctors forget to advise their patients

A
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The waiting lists for organ transplants in the
Western countries are becoming longer and
longer ----.

A) so that desperate people in developing countries
try to sell their own kidneys

B) as more of the ageing populations there develop
life-threatening conditions

C) although China and India, for example, are trying
to stop the illegal trade in organs

D) in case people hoping to receive a new liver or
heart don’t die prematurely

E) even if a greater number of surgeons could be

persuaded to perform such operations

Common bacterial infections have evolved to
become a nightmare for hospitals worldwide ----.
A) because they have developed resistance to
overused antibiotics

despite the fact that hygiene levels are not as
high as they should be

if the staff within them don’t continue to follow
proper sterilization procedures

that are struggling with ever-increasing surgical
and administrative costs

before antibiotics came into widespread use after
the Second World War

The British Medical Association is coming under
pressure to support compulsory childhood
vaccinations, ----.

A) when such interventions are insisted on by the
parents

whereas there are several diseases for which
there are no vaccinations

after a false scare about autism led to a drop in
vaccinations and a big jump in measles cases

most of which were of no value after a certain
age

but this fails to take into account the views of the
general public

Diger sayfaya gecginiz.



36. — 38. sorularda, verilen ingilizce ciimleye
anlamca en yakin Tiirkge climleyi bulunuz.

36. Certain kidney disorders are diagnosed by

injecting a radioactive chemical into the patient’s
blood and then measuring the amount of
radioactive material passed in the urine.

A) Bazi bobrek bozukluklari, hastanin kanina rad-
yoaktif bir kimyasal zerk edilerek ve sonra idrara
gecen radyoaktif maddenin miktari dlgillerek tes-
his edilir.

B) Bazi bébrek bozukluklarini teshis etmek igin,
hastanin kanina radyoaktif bir kimyasal zerk
edildikten sonra, bu radyoaktif maddenin idrara
ne miktarda gegctigi 6lgulir.

C) Hastanin kanina zerk edilen radyoaktif bir kimya-
salin, radyoaktif madde olarak ne miktarda idrara
karistigi 6lgllerek belli bazi bébrek bozukluklari-
nin teshisi yapilir.

D) Belli bash bobrek bozukluklarinin teshisi, hasta-
nin kanina radyoaktif bir kimyasalin zerk edilerek
idrara karigan radyoaktif maddenin miktarinin &l-
cllmesi ile gergeklestirilir.

E) Bodbrek bozukluklarindan bazilarinin teshis edil-
mesi, radyoaktif bir kimyasalin, hastanin kanina
zerk edildikten sonra, idrara gegen radyoaktif
madde Olglilerek gergeklestirilir.

A
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Milk and other dairy products have long been
recognized as highly nutritious foods, rich in
protein and minerals necessary for good teeth
and strong bones.

A) Protein ve mineraller bakimindan zengin olan st
ve cesitli st Urdinlerinin, saglam dis ve kuvvetli
kemikler icin 6nemli derecede yararli gidalar ol-
dugu her zaman kabul gérmustur.

Eskiden beri kabul edildigi Uzere, saglam dis ve
kuvvetli kemikler icin zengin protein ve mineraller
iceren sut ve sut Urunleri, oldukca besleyici gida-
lardir.

Saglam dis ve kuvvetli kemikler icin zengin pro-
tein ve mineraller igceren sut ve st Grlnlerinin,
¢ok yararli gidalar oldugu eskiden de kabul edi-
lirdi.

Sit ve diger sut Urtnleri, eskiden beri, saglam
dis ve kuvvetli kemikler icin gerekli olan protein
ve mineraller bakimindan zengin, son derece
besleyici gidalar olarak kabul edilmektedir.

St ve gesitli sut Grlnleri, saglam dis ve kuvvetli
kemikler icin zengin protein ve mineraller icerirler
ve bu bakimdan her zaman son derece yararli
gidalar olarak kabul edilirler.

Almost all the molecules a cell makes are
composed of carbon atoms bonded to one
another and to atoms of other elements.
A) Hem birbirine hem de dider elementlerin atomla-
rina bagl karbon atomlarindan olusan molekiille-
rin timd, hlcrelerce Gretilir.

Bir huicrenin urettigi molekullerin hemen hemen
timda, birbirine ve diger elementlerin atomlarina
bagli karbon atomlarindan olugsmaktadir.

Molekdllerin tim, gerek birbirlerine gerek diger
elementlerin atomlarina bagli karbon atomlari
olup, hiicrelerde olusur.

Hemen hemen butln molekuller, hiicrelerde Ure-
tilerek, birbirlerine ve ayrica diger elementlerin
atomlarina bagli karbon atomlarini igerirler.

Birbirlerine oldugu kadar diger elementlerin
atomlarina da bagh karbon atomlarinin olustur-
dugu molekillerin neredeyse timu, hicrelerde
retilir.

Diger sayfaya gecginiz.



39. — 41. sorularda, verilen Tiirkge climleye
anlamca en yakin Ingilizce ciimleyi bulunuz.

39. Kemoterapinin yan etkileri, ilaglarin, hizla bolii-
nen normal hiicreler lizerindeki etkilerinden ileri
gelmektedir.

40.

A)

It is the adverse effects drugs have on rapidly-
divided normal cells that lead to the side effects
of chemotherapy.

Since drugs have adverse effects on normal
cells that divide very fast, this leads to the side
effects of chemotherapy.

The side effects of chemotherapy are closely
related to the effects that drugs have on rapidly-
divided normal cells.

The side effects of chemotherapy are due to the
drugs’ effects on normal cells that rapidly divide.

Due to the rapid division of normal cells, brought
about by the effects of drugs, chemotherapy has
side effects.

Bazi kanser tiirlerine bagh 6liim oranlari son yil-
larda diigmiistiir, ancak kanserin yol a¢tigi 6liim-
lerin genel orani, endige verici bir sekilde artmak-
tadir.

A)

In recent years, death rates connected with
some kinds of cancer have fallen dramatically,
while the number of deaths caused by other
types of cancer has shown much increase.

There has been a noticeable decrease in recent
years in certain cancer death rates even though
the average rate of deaths related to cancer in
general has been increasing seriously.

In recent years, a remarkable decrease of
deaths related to various types of cancer has
been noticed, although there is a worrying
increase in the number of deaths due to cancer
in general.

Some types of cancer have a low rate of death,
but in recent years there has been a worrying
increase in the overall rate of deaths due to
cancer in general.

Death rates due to some types of cancer have
decreased in recent years, but the overall rate of
deaths caused by cancer is alarmingly on the
rise.

A
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Egzersiz, kalp hastaligi riskini yariya indirebilir,
ancak ¢cogu yetiskin, tavsiye edilen egzersizleri
yapmayi ihmal etmektedir.

A)

B)

C)

D)

E)

Adults in general neglect the kind of exercises
they have been advised to do even though they
are aware that exercise reduces the risk of heart
disease by half.

The risk of heart disease can be reduced by half
through exercise, although a great majority of
adults are indifferent to the exercises they have
been advised to do.

Exercise can cut the risk of heart disease in half,
but most adults neglect to do the exercises
recommended.

Since many adults fail to do the recommended
exercises, they always face the risk of heart
disease that can be cut down in half through
exercise.

Exercise is indispensable in order to reduce the
risk of heart disease by half, but a growing
number of adults refuse to do their
recommended exercises.

Diger sayfaya gecginiz.



A

42. — 46. sorularda, bos birakilan yere, parca-
da anlam biitiinliigiinii saglamak igin getirile-
bilecek ciimleyi bulunuz.

42. Down’s syndrome, muscular dystrophy, and

haemophilia may be among the best-known
genetic diseases, but they are most certainly not
alone. Several thousand human genes are linked,
when they fail to work properly, to more than
4,000 heritable genetic diseases. Moreover, only a
handful of these diseases are treatable. ----

A) Deactivating such genes during embryonic
development does not kill the embryo, which
suggests that disease-related genes are recently
evolved.

B) Researchers have found that the majority of
disease-causing genes were originally present in
single-celled organisms and that most of the rest
arose much later.

C) Haemophilia, for example, achieved widespread
visibility among the European public when it
afflicted several generations of royal families on
the Continent.

D) The incidence of juvenile diabetes, another
heritable disorder, is on the rise in the US, much
to the alarm of public-health authorities.

E) Any way of systematizing knowledge about them
would thus be welcome, starting with features
that the genes that cause diseases have in
common.
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In 1572, Michel de Montaigne, a French
philosopher, observed that “there are men on
whom the mere sight of medicine is operative.”
Over the centuries, all manner of sugar pills and
bitter tonics have been given to patients in the
belief that they might do some good and probably
will do no harm. ---- While some consider this a
virtuous lie, others argue it is unethical.

A) The problem is that doctors have usually
prescribed such placebos while telling patients
that they are sure to make them feel better.

B) An added benefit of this approach is that the
prescribed items are available at much lower
cost than standard pharmaceuticals, thus
relieving families financially.

C) Fortunately, the American Medical Association
advised its members in 2006 to use a placebo
for diagnosis or treatment only if the patient is so
informed and agrees to it.

D) Similarly, so-called faith healing carried out by
unconventional religious leaders has hundreds of
thousands of believers worldwide.

E) There are two explanations for the apparent
popularity of placebos: they do, in fact, work; and
they are used by overworked doctors to deal with
troublesome patients.

Like many other activities, global health has
fashions. ---- Recently, though, the focus has
shifted to malaria. This tropical disease kills a
million people a year, most of them children, and
debilitates hundreds of millions more. That is
why researchers are racing against one another
to be the first to devise an effective vaccine.

A) However, not all developing countries are
struggling with health-related issues.

B) Before Jonas Salk came up with his polio
vaccine, many parents lived in fear of their
children being struck down by the disease.

C) In Eastern Europe, for example, there has been
much concern about illicit drug use since the
Cold War ended.

D) For the past couple of decades, AIDS has
captured both the imagination and the research
dollars.

E) In contrast, tropical diseases have not always
received the attention they deserve from either
national governments or international
organizations.

Diger sayfaya gecginiz.



45.

46.

A

---- Their findings raise possible health concerns
for those working in the manufacture of the
materials. Carbon nanotubes are rolled-up sheets
of graphite thousands of times thinner than a
human hair. Because they are immensely strong
and are good electricity conductors, they are
poised for use in a wide range of fields, from
engineering to medicine. However, their similarity
in shape to asbestos fibres, which are known to
damage the lungs, is giving rise to fears of their
adverse effects on human health.

A) Carbon nanotubes are unlikely to pose risks to
the general public when incorporated into
products.

B) In studies done on mice, inhaling nanotubes
affected the function of T-cells, a type of white
blood cell that organizes the immune system.

C) Scientists are trying to determine if the
production of carbon nanotubes has any
biological after-effect.

D) Suppression by nanotubes of the immune
system in mice has been halted by administering
one of the standard anti-inflammatory drugs.

E) Inhaling carbon nanotubes can suppress the
immune system, according to scientists who
have just completed a study of this new
substance.

Infections in the roots of teeth are very difficult to
treat. ---- The infected material must then be
cleaned out completely and the drilled section
filled in. Although the procedure is routine, it is
common for some of the bacteria to survive and,
therefore, for infections to re-emerge shortly after
treatment.

A) Wound infections bear some similarity to this and
can result in gangrene if not treated successfully.

B) The tooth needs to be drilled into, right down to
the bottom of the nerve-carrying canal that runs
through the root.

C) This may help to explain the related mystery of
why dentists have one of the highest suicide
rates among professions.

D) Surprisingly, salty foods are just as damaging to
the teeth as sweet desserts like candy and cake
are.

E) Unfortunately, most medical-insurance plans do
not cover such procedures, even though they are
as traumatic to the body as some surgical
operations.

26

2009-UDS Sonbahar / ING-Sag. Bil.

47. - 51. sorularda, karsilikli konugsmanin bos
birakilan kismini tamamlayabilecek ifadeyi bu-
lunuz.

47.

Robert:

- Like most people, you probably think that the
billions of dollars poured by the West into
fighting diseases in poor countries have
produced only good results.

Tom:

- Of course, | do. For one thing, it’s well-known
that millions of people are alive today because
of the coordinated distribution of HIV drugs in
developing countries.

Robert

Tom:

- That’s a serious issue that needs to be
addressed.

A) The World Health Organization has been
overseeing disease-elimination programmes that
are making excellent progress.

B) You're absolutely right. In fact, funding for health
support in poor countries has increased
enormously in recent years.

C) That’s true; but there’s a minus side, too: all that
money has undermined some countries’ health
systems by luring doctors and nurses away from
hospitals to work for Western organizations.

D) What's more, in 2000, there was a worldwide
reaction of outrage over the situation in Africa,
where many were dying of AIDS because of the
unavailability of HIV drugs there.

E) Don’t you know that an investigative report on
the impact of all that money on hospitals and
clinics in the poorer countries has just been
published?
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48.

A

Barbara:
- Isn’t your mother taking special herbal
medicines for her arthritis?

Mark:

- Yes, she decided to go the natural route after
reading about possible side effects of
conventional medication.

Barbara:

Mark:
- Then I'd better speak to her and urge her to see
a specialist.

A) If we lived in Britain, she wouldn’t have to pay to
see an arthritis specialist under the National
Health Service there. But here, cost is always a
consideration, unfortunately.

B) I've always confused rheumatoid arthritis with
osteoarthritis. Which one does your mother
have?

C) Many people believe they can better benefit from
herbs and minerals instead of drugs they
perceive to be risky.

D) Yet, it has now been proved that many herbal
medicines and alternative therapies do nothing
to help people with arthritis.

E) What kind of side effects are you referring to? |
think your mother has done the right thing.
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49. Nancy:

- Things are getting crazier and crazier in
science. Now the US government has approved
a new drug that is not made in a factory but in
genetically-modified goats!

Nancy:
- They secrete the drug in their milk, and it’s then
used to untangle blood clots in patients.

Julie:
- | suppose that’s okay, as long as the animals
are not harmed in the process.

A) s that a drug that you and | are likely to need in
the future?

B) Won't that lead to unemployment in the drug
industry?

C) Are the goats even aware of what has been
done to them?

D) Why has the government allowed the producers
of this drug to go so far beyond what is normal?

E) What do the goats do that a factory can’t?

Diger sayfaya gecginiz.



50.

Doctor:
- Now that you are receiving chemotherapy, |

must warn you against opportunistic infections.

Patient:
- What exactly are you talking about?

Doctor:

Patient:

- So that probably means bacteria that are
usually harmless can overwhelm my body and
cause disease.

A) Well, you know chemotherapy weakens your

immune system.

B) Perhaps you should bring me your vaccine

report, so that we can check what diseases you

are immune to.

C) Well, I think it would be best if you avoided close

contact with people who have even the common

cold.

D) Once your chemotherapy is over, we'll have to

check your body functions and infection

resistance again.

E) Well, there are infections that affect people of a

certain age group.
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Michael:
- | have finally decided to quit smoking while |
still have my health.

Dorothy:

- Good for you! It’s hard to believe that cigarette
smoking, which is banned inside most places
now for health reasons, used to be encouraged
by the government.

Michael:
- You must be joking!

A) You know | never joke about social problems
and the situation of the poor. There’s nothing
funny about people going hungry.

Smoking has been proven to greatly increase the
likelihood of later getting lung cancer, heart
disease, and several other terrible conditions.

No, I'm serious. In wartime, the generals told the
government they needed “tobacco as much as
bullets,” and the government happily sent both.

Yes, actually. Do you want to hear even funnier
jokes? | know one about two nurses who worked
in a children’s hospital.

The harmful effects of passive smoking on

people who are not themselves smokers are only
now becoming known by the general public.
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52.

53.

54.

52. — 56. sorularda, ciimleler sirasiyla okun-

dugunda parganin anlam biitiinliigiinii bozan
ciimleyi bulunuz.

(I) The coming convergence of biology and
engineering will be led by information technologies,
which in medicine means the digitization of medical
records and the establishment of an intelligent
network for sharing those records. (ll) That essential
reform will enable many other big technological
changes to be introduced throughout the health-care
sector. (lll) Just as important, it can make personal
medical information available to the patients too,
enabling them to make decisions related to their own
health. (IV) Technology in general is advancing so
quickly that many people believe it will improve the
quality of life significantly. (V) However, many
doctors, and some patients, believe that patients lack
the knowledge to make informed decisions about
their own health.

A)l B) Il c)ym

D)IV  E)V

(I) One of the drawbacks of drugs in general is that
they have a variety of adverse side effects.

(I1) Treatment of vertigo can be divided into three
general categories: specific, symptomatic, and
rehabilitive. (Ill) In the first category are included
antibiotics, anticoagulants, and surgery. (IV) In fact,
many different classes of drugs have been found to
have antivertiginous properties. (V) However, all of
these drugs can cause metabolic complications, so
the decision on which drug or combination to use is
based on their known properties and on the severity
and duration of the vertigo.

A)l B) Il C) 1

DIV E)V

(I) Sutures have a long and bizarre history, dating
back to ancient Egypt, where everything from tree
bark to hair was used to stitch human flesh back
together again. (ll) In Egypt’s wars with its
neighbours, unknown numbers of young men were
wounded while fighting. (lll) Fifty years ago, a soldier
injured on the battlefield would have been sewn up
by medics using sheep’s gut. (IV) A hundred years
earlier, they would have used silk; before that, metal
wire. (V) Today, surgeons often prefer plastics such
as polypropylene.

A)l B) Il c)ym

D)IV  E)V

A
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55. (I) The government of Botswana, knowing that up to

a third of its population had HIV or AIDS, announced
in 2001 that it would offer free antiretroviral treatment
to every citizen with AIDS. (ll) It was a major medical
step forward for sub-Saharan Africa. (lll) By the time
the HIV drugs had hit the shelves, just about
everybody in Botswana knew of it. (IV) And yet, on
the last day of 2003, more than two years after the
launch of the programme, only about 15,000 people
had come forward for treatment. (V) Due to
widespread starvation and disease, the African
continent will always be a risky place to raise
children.
A)l B) Il c)n

D)IV  E)V

56. (I) Some pathogens are spread from one person to

another by direct contact. (ll) They leave the first
person through body openings, mucous membranes,
and skin wounds, and they enter the second person
through similar channels. (lll) Many pathogens that
once meant certain death for people are now dealt
with easily by wide-spectrum antibiotics. (IV) Other
pathogens involve an intermediary carrier, such as an
insect. (V) The malarial parasite, for example, spends
part of its life cycle in mosquitoes, then enters a
person's bloodstream when the mosquito bites the
person.
A)l B) Il C)

D)IV  E)V
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57.

57. - 60. sorular asagidaki pargaya gore
cevaplayiniz.

The brain’s capacity for finding new information-
processing pathways is thought to explain the
success of artificial cochleas, which have been
implanted in the ears of approximately 100,000
hearing-impaired people around the world. They
typically have an array of electrodes, each of which
channels electrical signals toward the auditory nerve.
The electrodes can stimulate not just a single neuron
in the brain but many simultaneously. When cochlear
implants first appeared in the 1980s, many
neuroscientists expected them to work poorly, given
their primitive design. But the devices work well
enough for some deaf people to converse over the
telephone, particularly after an adjustment period
during which channel settings are fine-tuned to
provide the best reception. Patients’ brains somehow
figure out how to make the most out of the strange
signals. The surprising effectiveness of artificial
cochleas — together with other evidence of the brain’s
adaptability — has fuelled optimism about the
prospects for brain/machine substitution. A case in
point is an ongoing project at the University of
Southern California that seeks to create implantable
brain chips that can restore or enhance memory.

The passage makes clear that cochlear implants

A) have helped many people with hearing difficulty
to hear better

B) were enthusiastically approved by neuro-
scientists when they were introduced

can only be used with a specially fine-tuned
telephone

will in the future be inserted into the brains of
patients

weaken the brain’s ability to remember electrical
signals

A
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According to the passage, artificial cochleas have
enabled certain deaf people to ----.

A) understand the purpose of strange signals

B) conduct telephone conversations

C) look forward to future brain/machine cooperation

D) stimulate the neurons in their brains

E) hear just as well as normal people

We see from the passage that implantable brain
chips ----.

A) are now in use at the University of Southern
California

B) have already managed to improve people’s
memories

C) have already been developed to improve the
quality of hearing

D) represent the latest generation of tele-
communications technology

E) may be developed in the future to strengthen
memory

It is suggested in the passage that the human
brain ----.

A) needs to be adjusted before deaf people can
hear with the implants

B) has a history of entering into relationships with
some machines

C) consists exclusively of neurons dedicated to the
sense of hearing

D) is capable of creating new ways of processing
information

E) always needs to be supported by artificial
cochleas
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61.

61. — 64. sorular asagidaki pargaya gore
cevaplayiniz.

By six months of age, the infant’s capacity to digest
and absorb a variety of dietary components as well
as to metabolize and excrete the resulting products is
near the capacity of the adult. Consideration of the
long-term effects of inadequate or excessive intakes
during infancy now assumes greater importance.
These considerations about delivery of adequate
amounts of nutrients are the basis for many of the
feeding practices advocated during the second six
months of life. Although it is clear that all nutrient
needs during this period can be met with reasonable
amounts of currently available infant formulas,
addition of other foods after four to six months of age
is recommended. In contrast, the volume of milk
produced by many women may not be adequate to
meet all nutrient needs of the breast-fed infant
beyond about six months of age, especially iron.
Thus, for breast-fed infants, complementary foods
are an important source of nutrients. Complementary
foods (i.e., the additional foods, including formulas,
given to the breast-fed infant) or replacement foods
(i.e., food other than formula given to formula-fed
infants) should be introduced step by step to both
breast-fed and formula-fed infants, beginning
between four and six months of age.

We see from the passage that breast feeding an
infant older than six months of age ----.

carries the possible risk of leaving the child short
of needed nutrients

must be replaced altogether by other nutrients

is much better than trying to replace it with
formula

meets all the prescribed nutritional requirements
of the child

has a long-term effect on inadequate or
excessive intake of food

A

31

62.

63.

64.

2009-UDS Sonbahar / ING-Sag. Bil.

It is pointed out in the passage that infant
formulas given in a child’s first year ----.
A) bring the digestive efficiency of the infant almost
up to the level of an adult

B) should never be combined with replacement
foods

must not be a cause of concern to mothers who
are still breast feeding

C)

D) will interfere with the effectiveness of

complementary foods
E) are areliable way to provide needed nutrition
after the first six months of life

According to the passage, six months is the age

from which all future meals until adulthood are
decided on

A)

B) when the greater importance of infancy becomes

clear
C) in which any kind of replacement food is
discontinued
D) when the addition of other foods to the baby’s
diet is recommended

E) when breast feeding should be stopped

The passage states that complementary foods

A) are chosen according to how well they match the
formula being given

B) should be mixed with formulas before being fed
to infants

C) must completely replace the mother’s breast milk
in the diet

D) should only be given when a mother’s milk lacks
the necessary iron

E) are best added to an infant’s diet gradually
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65.

65. — 68. sorular asagidaki pargaya gore
cevaplayiniz.

Following the growth of biological knowledge in the
past few decades, a few researchers now believe
extension of the human lifespan might be within
reach. Why do organisms — people included — age in
the first place? Like machines, people wear out.
However, a machine can usually be repaired. A good
mechanic with a stock of spare parts can keep it
going indefinitely, to the point where no part of the
original remains. The question arises, of course, of
whether the machine is worth repairing. It is here that
people and nature disagree. From the individual’s
point of view, survival is a must. You cannot
reproduce unless you are alive. Since ageing is a
sure way of dying, it is no surprise that people want
to stop it from advancing. Moreover, even the
appearance of ageing can be harmful. It reduces the
range of potential partners who find you attractive

— since it is a sign that you are not going to be around
for a very long time to help bring up the baby — and
this, in turn, restricts your ability to reproduce. There
is a paradox, however: the individual's evolved desire
not to age is opposed by another evolutionary force,
the disposable soma. The soma is all of a body’s
cells apart from the sex cells. Its role is to get the sex
cells, and thus the organism’s genes, into the next
generation. But evolutionary logic seems to require
the soma to age and die in order for a species to
continue. There is thus a premium on reproducing
early rather than conserving resources for a future
that may never come.

As we can infer from the passage, nature tends to

A) question whether human bodies can be repaired
B) favour shorter lifespans for living creatures

limit the number of partners a person can find
make people look old before they become old

oppose the evolutionary force of soma

A
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66. It can be understood from the passage that some

researchers ----,
A) are trying to extend their own lives to the
maximum

B) are unsure if extending the human lifespan is
worth doing

C) now think it may be possible to help people to
live longer

D) are preparing a large supply of spare parts to
help people live indefinitely

E) have the goal of making people like machines

The passage indicates that the purpose of the
soma is to ----,

A) oppose a person’s desire not to become old

B) transmit genes to one’s child or children

C) separate itself from the organism’s sex cells

D) persuade the organism to reproduce earlier

E) prefer to conserve the organism’s resources

According to the passage, just appearing aged
without actually being so ----.

A) harms the community of potential partners

B) means you will think fewer people are attractive

C) shows your real attitude towards babies

D) affects your body’s ability to reproduce

E) makes it more difficult to have a baby

Diger sayfaya gecginiz.



69.

69. — 72. sorular asagidaki pargaya gore
cevaplayiniz.

Individual “banks” of immune cells taken from pigs
might one day be used to boost our own immune
systems or to fight HIV and cancer. Our immune
system’s T-cells, which play a key role in fighting off
diseases, are sharpened during childhood to attack
particular pathogens after encountering them. This
flexibility diminishes after a child reaches young
adulthood, but researchers at a US university have
come up with a way to revive it. According to them, if
a human’s immune cells are transferred into a young
pig, they could be brought up to maximum
effectiveness (as in a child’s body), then implanted
back into the person they came from. The research
team has already had success with experiments
where human stem cells were injected into
developing pig foetuses; when the piglets were born,
the injected cells had multiplied and matured into a
diverse range of human T-cells, alongside the pig’s
own immune cells, that were shown to be fully
functional. The chief researcher envisions this
approach eventually being used to make human cells
that fight specific diseases. The necessary
technology is available now to introduce the
technique widely, provided that regulatory authorities
can be convinced that it can be safely tested in
humans. However, the fear is that dormant pig
viruses buried in their DNA could be spread to
humans. Another potential danger is that human-
derived cells might pick up surface molecules from
the pig. This could make the transferred cells
themselves targets for immune destruction. The pigs
might also produce too few human cells to fight
disease.

We can understand from the passage that
regulatory authorities ----.

are concerned that using pigs to grow human
immune cells might be harmful

should first convince the researchers to safely
test the technique against specific diseases

are responsible for protecting the health of baby
pigs implanted with human cells

are most afraid of the possibility of the pigs’
inability to produce enough human immune cells

have been working closely with the researchers
to ensure the experiments were done correctly

A
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70. The passage points out that a human’s immune

71.

72.

system ----,

A) grows gradually stronger as he or she gets older

B) is exactly the same as a pig’'s

C) functions at peak levels during childhood

D) eventually declines to zero in old age

E) consists of many copies of one kind of T-cell

According to the passage, the research team’s
experiments demonstrated that ----.

A) humans’ immune systems diminish in power
after childhood

B) immune cells that had been grown in pigs could
fight HIV and cancer

C) human T-cells need to be alongside pig immune
cells to be fully functional

D) piglets that were injected with human stem cells
soon produced a variety of human T-cells

E) pig foetuses could be made to produce human
T-cells

The passage suggests that the implantation of
pig-boosted T-cells back into the original human
donor ----,

A) has not been attempted yet by the researchers

B) was successful in restoring the person’s immune
system to childhood levels

C) resulted in a new immune system for him or her
that was capable of fighting specific diseases
D) was stopped by the researchers’ discovery of a
dormant pig virus in the DNA

E) was refused by him or her out of fear of the
possible dangers it might bring

Diger sayfaya gecginiz.



73.

73. - 76. sorular asagidaki pargaya gore
cevaplayiniz.

Asthma is a life-threatening, allergy-driven lung
disease common in wealthy countries. But exactly
what causes it is unknown. Researchers at
Washington University believe the direct cause of
asthma is a chemical distress signal produced in skin
that is damaged by another hazard of modern life:
eczema. Unlike asthma, it is not dangerous, so
people rarely worry about it. Nevertheless, 17% of
children in America have it, and similarly high figures
are found in Australia, Britain, and New Zealand.
What is particularly intriguing is that many people
with eczema go on to develop asthma (in America,
the figure is 70%). That compares with an asthma
prevalence of 4-8% in the general population. The
Washington University group theorizes that the link
between the two conditions is formed by thymic
stromal lympho-poietin (TSLP), a signalling molecule
secreted by damaged skin cells that elicits a strong
immune response from the body to fight off invaders.
Thus, eczema-induced TSLP enters the bloodstream
and, when it arrives at the lungs, sensitizes them so
that they react to allergens that would not previously
have bothered them. In other words, they become
asthmatic. Several experiments carried out by the
researchers, only on mice, have confirmed that skin
damage creates susceptibility to asthma by releasing
TSLP.

It is clear from the passage that a causative
relationship between skin damage and asthma

A) has been proven only in English-speaking

countries

would mean that allergens would no longer play
arole in asthma attacks

has been established in mice but not yet in
human beings

means over-exposure to the sun may hurt the
lungs

does not provide immunity to sufferers of both
conditions

A
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The passage points out that the prevalence of
eczema among children in America ----.

A) is related to their distress levels

B) is much higher than it is in other English-
speaking countries

C) may be due to people’s failure to worry about it

D) results from the abundance of TSLP in that
country

E) is much higher than that of asthma in the general
population

According to the passage, Washington University
researchers ----.

A) have been harshly criticized by their colleagues
around the world

B) are strongly of the opinion that there is a link
between eczema and asthma

C) feel that they still have to carry out new
experiments as regards asthma

D) have already come up with a set of solutions to
reduce the rate of eczema among American
children

E) have collaborated with their British, Australian
and New Zealander colleagues to study eczema
and asthma

It is clearly pointed out in the passage that
asthma ----.

A) is most widespread in countries with prosperous
populations

B) always causes serious damage in the lungs,
which try to fight it off

C) has only recently become a serious concern
among researchers in English-speaking
countries

D) causes a great deal of TSLP secretion in the
body, which leads to skin-allergy

E) is generally ignored among the people who are
not wealthy enough to seek medical aid

Diger sayfaya gecginiz.



77.

77. - 80. sorular asagidaki pargaya gore
cevaplayiniz.

Patients are admitted to critical care units from a
variety of settings, including the emergency
department, medical or surgical service, or operating
room. Most critical care patients are acutely and
severely ill, commonly with dysfunction or failure of
more than one organ system. The initial assessment
must be rapid and focus on real or potentially life-
threatening processes that require immediate
intervention. An example is the resuscitation of a
patient with cardiopulmonary arrest. The pace of
resuscitation is necessarily quick; physical
examination may be restricted initially to the central
nervous, cardiovascular, and respiratory systems,
and interventions may be limited to the essential
ABCs of airway, breathing, and circulation. Later,
continuous electrocardiographic monitoring,
measurement of blood pressure, and other standard
procedures should start. In general, management of
the critically ill patient should be based on an
understanding of physiology and pathophysiology.
Indeed, although the contributions of cell and
molecular biology to critical care medicine are
substantial, the critical care unit more resembles a
physiology laboratory, since the effects of its
interventions can be directly observed.

The passage explains that initial assessment in
the critical care unit ----.

aims to resuscitate patients with cardio-
pulmonary arrest

is only done for patients who are suffering from
various diseases

can itself become a life-threatening process if the
ABCs are not limited

must be immediate and centre on saving life

determines the ultimate survival of patients
suffering from heart disease

A
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We learn from the passage that critical care
medicine ----.

A) rests primarily on the underlying disciplines of
physiology and pathophysiology

B) has received the greatest amount of support
from emergency departments

C) often must be based within an actual physiology
laboratory

D) revolves around the essential ABCs of airway,
breathing, and circulation

E) is necessarily concerned with the pace of
resuscitation in cardiopulmonary arrest

According to the passage, standard procedures
in a critical care unit ----.

A) must be carried out as soon as a patient is
admitted

B) are primarily restricted to patients with cardio-
pulmonary arrest

C) can begin only after the immediate initial
assessment has been completed

D) should never be limited even though the patient
is receiving immediate intervention

E) should be clearly defined before the patient’s
case is fully specified

The passage states that critical care units ----.
A) only deal with patients having multi-organ
dysfunction or failure

B) specialize in resuscitating those with cardio-
pulmonary arrest

C) take into consideration the principles of
physiology when accepting patients

D) have benefited financially from cell and
molecular biology institutions

E) accept patients from several different areas
within a hospital

TEST BITTi.
CEVAPLARINIZI KONTROL EDIiNiz.



A

INGILIZCE
SOSYAL BILIMLER TESTI

1. — 18. sorularda, ciimlede bos birakilan yer-
lere uygun diisen sozciik ya da ifadeyi bulu-
nuz.

1. Organized youth camps provide young people

with not only different forms of outdoor ---- but
also training in co-operation, initiative, and
resourcefulness.

A) sustenance B) irresponsibility

C) permanence D) relevance

E) recreation

. During the seventeenth and eighteenth centuries,
there was a common view that elegant speech
was a mark of social prestige in that it was ---- of
having come from a good family.

A) possessive B) perceptive
C) indicative D) inclusive

E) extensive

. Since many people are unaware of the miseries of
poverty and hunger, it is ---- easy for them to feel

contented.
A) painfully B) barely
C) violently D) offensively

E) usually
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4. The pattern of world affairs is very complicated,

and by no means everything that happens can be
---- to the influence of the super-powers.
A) attributed

B) entitled C) declared

D) sustained E) resolved

5. Historically, the development of capitalism has

---- several phases, following the period of feudal
organization of society.
A) taken after B) called in
C) brought forward D) gone through

E) turned down

. Rice is by far China’s most important agricultural

product and ---- over half the total cereal
production.
A) lets in B) accounts for
C) sets forth D) falls through

E) looks after

Diger sayfaya geginiz.



7. Janet Malcolm, who is an admired photographer

and ---- pictures since the early 1960s, generally
---- her summers photographing people and
places in Africa.

A) took / has been spending

B) had been taking / will spend

C) has been taking / spends

D) takes/has spent

E) had taken / would spend

. Upon the completion next month of its renovation
and expansion, the museum ---- its exhibition
space and added an auditorium ---- for
performances and lectures.

A) will have doubled / to be used

B) doubled /to have used

C) has doubled / to have been used

D) doubles / being used

E) had doubled /to use

. Without television cameras, the famine now

ravaging Ethiopia ---- the attention of the well-fed
world that ---- with offers of money and other
forms of aid.

A) won’t have caught / will respond

B) did not catch / responded

C) will not catch / had responded

D) would not have caught / has responded

E) is not catching / is responding

A
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10. The finest achievement of Europe’s post-1945

1.

12

leaders was their recognition that, unless
Germany ---- into the evolving Western system,
insecurity ---- across the continent.

A) has been integrated / had reigned

had been integrated / has reigned
is integrated / reigned
integrates / will reign

was integrated / would reign

Our sense of self -—-- by the roles and qualities
that our peers and teachers ---- to us.

A) was formed / have assigned

B) is formed / assign

C) is being formed / will be assigning

D) had been formed / assigned

E) will have been formed / would assign

The Houston Caribbean Festival brings a feast ----
music and colour ---- the streets of downtown
Houston each year.

A)on /by B) at / over
C)of/to D) above / off
E) to / within
Diger sayfaya gecginiz.



13.

14.

Mount Kilimanjaro in Tanzania, the highest
mountain ---- Africa, rises 5,895 metres ---- sea
level.

A) over / at B) across / into
C) at / through D) below / to
E) in / above

It is assumed ---- an educational programme
should emphasize the valid aspects of the
cultural and historical past.

C)as

A) whereby B) since

D) that E) in case

15. The most rewarding aspect of taking

photographs is to be able to immortalize on your
film people’s hearts, smiles, and soul ---- you can
always feel like you are a part of their world.

A) while

B) as though C) so that

D) whereas E) whenever

A
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Painters ---- diverse ---- Goya, Manet, and Picasso
were inspired by Titian and other Renaissance

painters.
A)as/as B) both / and
C) not only / but also D) so / that

E) such/as

It is generally thought that animals love us ----
who or what we are.
A) so long as B) no matter
C) provided that D) because of

E) for the sake of

18. If there is one thing that is more astonishing than

the ability of the adult human to talk, it is the
process ---- he learns to do it.

A) whichever B) where C) that
D) however E) by which
Diger sayfaya gecginiz.



19.

20.

21.

22,

23.

19. — 23. sorularda, asagidaki pargada numa-
ralanmis yerlere uygun diisen s6zciik ya da
ifadeyi bulunuz.

Despite the American people’s growing (19)---- to this
policy, more than 100,000 US soldiers remain in Iraq,
where they are (20)---- involved in training Iraqi
forces to replace them. However, it is understood that
they stand ready to intervene directly should the
security situation again (21)----. Politically, Iraq is still
a troubled country, with major rows among political
parties on the one hand and tribal leaders on the
other (all of whom are solely interested (22)----
expanding their own power base) being a regular
occurrence. In Anbar province, for example, the
arguments between the sheikhs and other influential
figures (23)---- are competing with one another for
power and popularity often turn violent.

A) approval B) discrepancy

C) opposition D) subversion

E) failure

A) relatively B) hardly

C) rarely D) mainly

E) scarcely

A) increase B) commence

C) extend D) emerge

E) deteriorate

A) at B) about C) for

E) with

A) which B) who C) where

D) when E) whom
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24. — 35. sorularda, verilen ciimleyi uygun
sekilde tamamlayan ifadeyi bulunuz.

24. As families become more fragmented and
dispersed, ----.

A) children tend to turn more to other people for

affection
ties between mother and father get stronger

traditionally, singleness is seen as a mark of
immaturity

working conditions for young people have
improved a great deal

the increasing rate of crime in big cities has
always been a serious concern

25. Because its habitat is threatened by climate
change, ----.

A) the elephants in Africa have dwindled

considerably

the survival chances of many species in the
Amazon area are getting worse

the polar bear has been the first to be granted
protection under the Endangered Species Act

the Asian tiger’s black-striped yellow fur is very
attractive

there is a very profitable market for elephant
tusks

Diger sayfaya gecginiz.



26. While children in their early years are learning
about the world around them, ----,

A)
B)
C)
D)

E)

they have always been warned by their parents
he makes use of his previous experiences
it is obvious that child care ought to be a priority

there are some diseases that have no effective
treatment

they often confuse the real with the imaginary

27. After Dali was expelled from art school in Madrid
in 1926, ----.

A)

B)
C)

D)

E)

he had been much influenced by the earlier
Spanish painters

a number of paintings depict unusual landscapes

especially mentally disturbed people had
interested him enormously

he joined a group of painters who called
themselves “surrealists”

today his paintings still amaze but also entertain
many people
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28. ----, although most French people believe that this
tradition has a much more recent history.

A)

Even France’s everyday wines are widely
appreciated worldwide

Most of the great wines of France have long
been produced in its southern regions

The range, quality, and reputation of the fine
wines of Bordeaux have made them world-
famous

Each of the wine-producing regions in France
has its own traditional identity

Winemaking in France dates back to pre-Roman
times

29. ----, until the Europeans began to settle there in
the 18" century.

A)

Anthropologists believe that aboriginal people in
Australia initially arrived from Asia

In Australia, various aboriginal tribes had
inhabited the region now known as South Wales

Australia’s leading city, Sydney, has experienced
alternating periods of growth and decline

Australia has always been inhabited by the
aboriginal people

Sydney is a modern cosmopolitan city that has a
distinctive cultural identity

Diger sayfaya gecginiz.



30. Sceptics often claim that reports of unidentified
flying objects (UFOs) are examples of shared

delusions, ----.

A) since many people have seen them in recent
years

B) despite the fact that we never believed it

C) though that doesn’t discourage those who insist
on having seen them

D) now that what UFO enthusiasts say they have
seen is taken seriously

E) until a team of scientists examined some

wreckage found in 1947

31. The traditional Middle Eastern diet, which relies
heavily on lean meat, salads, vegetables, and
fruit, is a healthy one, ----.

A)

B)

C)

D)

E)

even though it is often served in expensive
restaurants

just as one must pay close attention to one’s
own health

as long as you intend to share it with other
people

if one is careful enough to follow it in moderation
and not to excess

when more and more Europeans have travelled
to the Gulf Area

A
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32. ----, others are more resistant to change and
become dysfunctional and fail.

A) While most companies quickly adopt new
information technologies and thus survive

B) Because companies differ in their goals and the
strategies designed to reach them

C) That most senior managers do not realize how
fragile the ongoing viability of a company can be

D) Provided that the most flexible companies rapidly
acquire new knowledge and apply it quickly

E) Unless the best companies meet the challenges
that typically arise in the business environment

33. Taiwan’s pink dolphins have been listed as
“critically endangered”, ----.

A) as soon as the extensive fieldwork on these
creatures is started

B) as if the work of scientists and conservationists
marked a victory for them

C) if their losses could be halted and reversed

D) when the effort to identify them along the
western coast started in 2004

E) since they face the threat of extinction

Diger sayfaya gecginiz.
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34. ----, all mammals are known today to have some
form of emotion.

A) Despite the fact that there are striking similarities
between human beings and animals

B) Although some scientists long maintained
otherwise

C) Because even birds delight us with their singing

D) Even if studies suggest that animal behaviour is
instinctive

E) If they know how different species communicate

35. Lethal injection replaced execution by hanging,
the gas chamber, and the electric chair, ----.

A) so some researchers have challenged the
efficacy of the drug protocols underlying the
practice

B) in which three poisonous chemicals are
administered to the condemned

C) thus making this method far from foolproof

D) each of which had at some point been judged to
be inhumane and excessively violent

E) but many US states soon adopted it as their only
form of capital punishment
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36. — 38. sorularda, verilen ingilizce ciimleye
anlamca en yakin Tiirkge ciimleyi bulunuz.

36. This new collection of cosmetics has been
scientifically developed to help correct the visible
signs of aging, such as fine lines and wrinkles,
enlarged pores, and skin imperfections.

A)

Bu yeni kozmetik serisi, ince gizgiler ve kirigiklar,
genislemis gézenekler ve cilt bozukluklar gibi
g0zle gorulir yaslanma belirtilerini diizeltmeye
yardimci olmak igin bilimsel olarak gelistirilmigtir.

Bu kozmetik serisi, ince gizgiler ve kirisiklar, ge-

nislemis gézenekler ve cilt bozukluklari gibi gozle
gorulur yaslanma belirtilerini diizeltmeye yardim-
ciolmak igin yeni geligtirilmigtir.

Bu yeni kozmetik serisi, ince gizgiler ve kirigiklar,
genislemis gézenekler ve cilt bozukluklari dahil
her turll yaslanma belirtisini yok etmeye yardim-
ci olmak igin gelistiriimistir.

Bu yeni kozmetik serisi, ince gizgiler ve kirisiklar,
genislemis gozenekler ve cilt bozukluklar gibi
g0zle gorulir yaglanma belirtilerini bilimsel yollar-
la duzeltmeye yardimci olmak igin geligtiriimigstir.

Bu yeni kozmetik serisinin bilimsel yollarla gelisti-
rilmesinin amaci, ince gizgiler ve kirisiklar, genis-
lemis gbzenekler ve cilt bozukluklar gibi gézle
gorulir yaslanma belirtilerini diizeltmeye yardim-
ci olmaktir.

Diger sayfaya gecginiz.
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37. Logic suggests that having options allows people
to select precisely what makes them happiest,
but as studies show, excessive choice often
makes for misery.

A) Mantiksal olarak, ¢ok sayida segenege sahip ol-
mak insanlari en mutlu eden seydir; oysa calisg-
malar ¢ok fazla segeneg@imiz oldugunda genellik-
le kararsiz kaldigimizi géstermektedir.

B) Mantik, insanlarin kendilerini tam olarak en mutlu
eden seyi se¢melerini 6nerir; oysa galismalarin
da gosterdigi gibi, cok sayidaki segcenegimiz ara-
sinda bizi mutsuz edebilecek seyler de vardir.

C) Mantik, seceneklere sahip olmanin insanlara
kendilerini tam anlamiyla en mutlu kilacak olani
secme imkani tanidigini belirtir; ancak, ¢alisma-
larin da gosterdigi gibi, geredinden fazla segenek
cogu kez mutsuzluga neden olmaktadir.

D) Insanlarin sunulan segenekler arasindan kendi-
lerini tam olarak en mutlu edecek olani se¢gmeleri
mantik agisindan da &énerilir; ancak yapilan calig-
malara gore, genellikle gereginden fazla segene-
ge sahip olmak insanlarda sikintiya yol agmakta-
dir.

E) Cok sayida segenek genellikle kararsizlik yarat-
sa da, mantik yine de kendilerini en mutlu ede-
cek olani segebilmeleri igin insanlarin farkli sege-
neklere sahip olmalari gerektigini belirtir.
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38. China’s one-child policy, enforced by the
authorities through heavy fines, came into force
in 1979 after a period of explosive population
growth in the country.

A) Yetkililerce agir para cezalari koyularak dayati-
lan Cin’in tek ¢cocuk politikasi, tlkede agiri 6lgl-
de nifus artiginin yasandigi bir ddonemden sonra
1979’da yururlige girmistir.

B) Cin’'de yetkililerin uymayanlara agir para cezalari
ongoérdukleri tek gcocuk uygulamasi, tlkede pat-
lama denilebilecek bir niifus artisinin yasandigi
1979 yilindan sonra gl¢ kazanmistir.

C) Cin’de yetkililerin 1979 yilinda gli¢ kullanarak
agir para cezalari karsiliginda kabul ettirdikleri
tek gocuk politikasi, asiri nifus artiginin yasan-
dig1 bir ddnemden sonra uygulamaya girmistir.

D) Gin’in 1979 yilinda yasanan asiri nifus artigin-
dan sonra uygulamaya koydugu tek ¢ocuk politi-
kasi, yetkililer tarafindan agir para cezalari saye-
sinde kabul ettirilmistir.

E) AQgir para cezalari konularak halka kabul ettirilen
Cin’deki tek cocuk politikasi, tlkenin yasamis ol-
dugu asir nufus artisi ddneminden sonra yetki-
liler tarafindan 1979’da ydrurlige konulmustur.

Diger sayfaya gecginiz.
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39. — 41. sorularda, verilen Tiirkge climleye
anlamca en yakin Ingilizce ciimleyi bulunuz.

39. Diinyanin en eski ve en biiytik ¢carsisi olan Kapa-
ligarsi, istanbul’'un fethinden hemen sonra Fatih
Sultan Mehmet’in emriyle, Ayasofya’ya gelir sag-
lamak amaciyla inga edilmistir.

A)

B)

C)

D)

E)

The Grand Bazaar, which was built by Sultan
Mehmed the Conqueror to provide income for St.
Sophia right after the conquest of Istanbul, is one
of the oldest and largest bazaars in the world.

Being the oldest and the largest bazaar in the
world, the Grand Bazaar was built soon after the
conquest of Istanbul on Sultan Mehmed the
Conqueror’s order to provide income for St.
Sophia.

Built upon Sultan Mehmed the Conqueror’s order
to provide income for St. Sophia, the Grand
Bazaar has been the oldest and the largest
shopping area in the world since the conquest of
Istanbul.

The Grand Bazaar, which is the oldest and the
largest bazaar in the world, was built after the
conquest of Istanbul when Sultan Mehmed the
Conqueror ordered that it should provide income
for St. Sophia.

It was soon after the conquest of Istanbul that
Sultan Mehmed the Conqueror ordered that the
Grand Bazaar, the oldest and the largest bazaar
in the world, be built so that it could provide
income for St. Sophia.
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40. Medyadaki siddet goriintiilerini izlemenin daha
sonra ¢ocuklarda saldirgan davraniglara yol acti-
gini kesin bigcimde ortaya koyamasalar da, arada-
ki baglantiy1 arastiran ¢galismalar siddet izlenmesi
ile sonradan ortaya gikan saldirganlik arasinda
dikkate deger bir iliski kurmaktadirlar.

A)

D)

However significant the link between observation
of violence and later aggression may be,
correlational studies cannot claim that viewing
media depictions of violence produces
subsequent aggressive behaviours in children.

No matter how clearly correlational studies
establish a significant link between viewing
media depictions of violence and subsequent
aggressive behaviours in children, they still
cannot demonstrate this unequivocally.

Although correlational studies are unable to
establish a significant link between observation
of violence and later aggression, they can
demonstrate unequivocally that viewing media
depictions of violence produces subsequent
aggressive behaviours in children.

Despite their inability to demonstrate
unequivocally that viewing media depictions of
violence produces subsequent aggressive
behaviours in children, correlational studies
establish a significant link between observation
of violence and later aggression.

The fact that viewing media depictions of
violence produces subsequent aggressive
behaviours in children has been poorly
supported by the correlational studies which
have established a link between observation of
violence and later aggression.

Diger sayfaya gecginiz.



41.

ilk kez rihtim bolgesinde galisan Giiney
Carolinali zenciler tarafindan yapilan Carliston
dansi, George White tarafindan Birinci Diinya
Savasr’nin hemen sonrasindaki yillarda tanitil-
mig ve 1920’lerin bir 6zelligi olmustur.

A) Launched by George White during the early
years following the First World War, the
Charleston had originally been danced by negro
dockworkers in South Carolina before it became
characteristic of the 1920s.

B) The Charleston, danced by black dockworkers,
originated in South Carolina and became the
characteristic of the 1920s once George White
introduced it soon after the First World War.

C) The characteristic dance of the 1920s, the
Charleston, was first introduced by South
Carolina negro dockworkers and became well-
known only when George White taught it after
the First World War.

D) Although the Charleston was danced first by
black people at the docks in South Carolina, it
was not until George White introduced it that it
became characteristic of the postwar era in the
1920s.

E) The Charleston, first danced by the South
Carolina negro population working in the
dockland area, was launched by George White
in the years immediately following the First World
War, and it became characteristic of the 1920s.
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42. — 46. sorularda, bos birakilan yere, parga-
da anlam biitiinliigiinii saglamak igin getirile-
bilecek ciimleyi bulunuz.

42. The carpet is of eastern origin and in general can

be said to differ from tapestry by the technique of
its knotted weave. The refined technique and
ornate geometrical patterns found on fragments
discovered in eastern Turkestan, dating from the
5" and 6™ centuries A.D., indicate a long
evolution in the history of the carpet. ---- The
Abbasid caliphs of Baghdad were also well-
known patrons of carpet manufacture: one made
for Caliph Hashin early in the 8" century
measured 100 yards by 50 yards. The most
famous area of production was, however,
northwestern Persia.

A) The large carpets that decorate the mosque of
Alaaddin date back to the 13" century.

B) The earliest fragment of carpet still existing was
found in Russia and is now in the Hermitage
Museum in St. Petersburg.

C) A change in the composition and decoration of
carpets was made in Persia at the end of the 150
century.

D) Durin%1 the Sassanid dynasty in Persia (in the 6"
and 7 centuries A.D.), carpets of wool and silk
pile were already in great demand.

E) The carpet industry in Egypt must have been of
great importance at the end of the Middle Ages.

Diger sayfaya gecginiz.



A

43. Castes are known in several societies, but the

best known and most rigid example developed in
India. It may have grown in the first two millennia
B.C., chiefly with the object of preserving the
pale-skinned Aryan invaders from admixture with
the darker-skinned, indigenous Dravidians. ----
However, an increasing subdivision of castes
was firmly established by the 5t century B.C.,
with strict rules of social conduct.

A) Since British society was divided by class, the
British attempted to equate the Indian caste
system to their own social class system.

B) In Hindu religious terms, the four main castes
were of divine origin, having been born from
different parts of Brahma.

C) Caste rules have been considerably relaxed,
especially in the last 40 years or so.

D) The caste system was carried over into Indian
Islam by those who converted to this faith.

E) Distinctions were not particularly rigid in the early
stages, and intermarriage was known.
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44. ---- In the argument, additional claims are made in

support of the claim we are trying to persuade
people to accept. But these additional claims may
be challenged as well. Recognizing this, authors
frequently anticipate the need to supply further
support for their arguments.

A) Recognizing that people generally require
reasons to accept a controversial claim, we set
forth an argument.

B) Distractions make it hard, even for reasonable
people, to reliably differentiate between
reasonable and unreasonable courses of action.

C) We think of reason as the capacity to use
disciplined intelligence to solve problems.

D) The word “argument” is ambiguous, for one of its
senses is the dispute between two people.

E) There comes a point for most people where it is
no longer possible to suspend judgment.

Diger sayfaya gecginiz.



45. For advertisers, the most important classification

46.

of advertisements is by the type of consumer,
and they spend huge amounts of money and
effort in trying to divide up the public so that it
can be more precisely targeted. This process
entails endless discussions about whether the
best divisions are those of lifestyle, socio-
economic class, personality type, or of
something else altogether. Then there is the fact
that certain products are more often bought by
men than by women, by the rich, by a certain age
group, and so on. ----

A) The advertiser must anticipate a prospective
customer’s preferences and persuade him to buy
the product in question.

B) Advertising has become too widespread
geographically and too multifaceted in terms of
media for any study to be comprehensive.

C) Nevertheless, the issue of defining an ad is
closely linked to that of defining its categories.
D) In other words, when an ad appears on a wall or
even a shirt, it is not the substance of this
environment that matters, but its social meaning.
E) So a given advertising approach will have far
more of an effect on one group than on another.

During the 1960s, although Tanzania had adopted
Swahili as its national and official language, it
was the medium of instruction only until high
school, where it was replaced by English. ----
Since then, Swahili has gradually been replacing
English as the medium of instruction throughout
all levels of the education system.

A) British colonial education policies, like those of
the Germans before them, were seen to be
grounded in linguistic imperialism.

B) Swahili also serves a symbolic function for the
country, namely one of nationalism and
unification.

C) This situation lasted until an official change in
policy was written into the country’s Third Five-
Year Plan in 1976.

D) However, the role of English was central to the
shaping of Tanzanians’ cultural identities in
colonial times.

E) During the postcolonial 1950s and 1960s, many
Third World societies concentrated on their
socio-economic needs.

A

47

47.

2009-UDS Sonbahar / ING-Sos. Bil.

47. - 51. sorularda, karsilikli konugsmanin bos
birakilan kismini tamamlayabilecek ifadeyi bu-
lunuz.

Mike:
- Do you know that they are going to start
rationing water?

Cindy:

- Yes. | happened to hear it on the news this
morning. They said that the reservoir had
dipped below half its capacity, and the volume
of water entering the reservoir is the smallest in
the last ten years.

Mike:
- It’s not surprising, actually, because we haven’t
had as much rain as usual this year.

Cindy:

- Well, if it could rain even a drop, my flowers
would certainly come back. The soil has been
baked so hard.

From now on, the best thing to do is to water
your garden regularly every day.

Forget it. It looks as if it's going to get a lot worse
before it gets better.

You know, even before the rationing
announcement, they suddenly turned off the
water yesterday without a warning.

| don’t blame you. Why don’t you hire a gardener
to help you?

Just remember, | told you to pay the water bills
on time.

Diger sayfaya gecginiz.



48.

Steve:
- How are things going with you and your
roommate?

Bob:

Steve:
- Then, why don’t you tell him that he should pay
you for half of what you spend on food?

Bob:

- I would find that a bit hard to do, considering
how he treats me to a good meal in a restaurant
every weekend.

A) He’s such a snob! He wasn't like that before he
got that new job.

B) Actually, | dislike the food he prepares, so |
generally eat out.

C) We get along well, except for the times he
practices playing the guitar and singing off-key.

D) We're supposed to share the grocery shopping,
but he ends up eating everything | have put in
the fridge without buying any of it himself.

E) [I've got sick and tired of his nagging me all the
time. If he refuses to mend his ways, I'll ask him
to move out.

A
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49. John:

- Each time we switch to Daylight Savings Time, |
always forget to put the clock forward an hour.

Michael:
- Me, too. I've always had problems with Spring-
forward and Fall-back.

John:
- | think adjusting ourselves twice a year is
harmful to our long-term health, too.

Michael:

- You know, with modern technology, we could
slowly ease into Daylight Savings Time by
digitally having clocks add a few seconds a day
for three months in the spring and the reverse
in the autumn.

A) Then the change would be imperceptible,
provided all clocks moved in the same manner.

B) | really love that first evening after Daylight
Savings Time has taken effect.

C) ltis indeed busywork, and it has caused me to
miss important things a couple of times.

D) My clock makes the changeover automatically,
so | have no problem.

E) What a great idea! But | don’t think it will do any
good with the traffic situation, do you?

Diger sayfaya gecginiz.



50.

Ruth:

- What do you think of global warming and
humans’ alleged role in it?

Larry:

- Global warming is a problem that will largely
have to be solved through energy conservation,
but ----

Ruth:

- What do you really mean?

Larry:

- I mean it’s environmental hypocrisy!

Ruth:

- Hypocrisy?

Larry:

- Yes. These people preach clean energy, simple
living, and use of mass transportation while
doing none of these things themselves.

A) people who care about children, born or unborn,
should be aware of the lurking environmental
dangers.

B) industrial agriculture has lowered the nutritional
value of staple vegetable crops far below what it
used to be.

C) these high-profile environmentalists who talk and
talk and do little else are worse than useless.

D) people must take scientific facts into account
when making important life choices.

E) there may be no solution to the coming
nightmare of world overpopulation.
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Joanne:
- Hi, Tom! You look worried. What’s on your
mind?

Tom:

- | really need that job I’'ve interviewed for, but |
just found out that there are many younger
applicants. | guess my chances are pretty slim
now.

Joanne:

- I wouldn’t say that! You are older but highly
qualified and experienced. | am sure you will get
it!

Tom:
- But | still think that any younger applicant has
an advantage over me.

Joanne:

A) Those young guys may only be trying to get their
foot in the door so they can move on to better
positions later. Most employers know this.

B) Anyway, face facts: you are eligible for
retirement, and that field has moved on without
you.

C) You're right! One of the most difficult things an
older jobseeker has to deal with is the younger
competition.

D) Having retirement income, you should start out
at an entry-level salary, which should be
satisfying for you.

E) Just use your common sense. Have you ever

seen anyone over 40 doing that job? There’s a
reason for that.

Diger sayfaya gecginiz.



52.

53.

52. — 56. sorularda, ciimleler sirasiyla okun-

dugunda parganin anlam biitiinliigiinii bozan
ciimleyi bulunuz.

(I) Today’s young people in their teens and 20s, who
have been dubbed “digital natives”, have never
known a world without computers, the Internet, and
cell phones. (ll) Many of these natives rarely enter a
library, but instead use Google, Yahoo, and other
online search engines for information they need.

(1) The neural networks in the brains of these digital
natives differ dramatically from those of adults.

(IV) Investigators have reported that most of
technology exposure, such as watching television
and videos or listening to music, is passive. (V) Basic
neural networks in most adults are said to have been
laid down during a time when direct social action was
the norm.
A)l B) Il c)ym

D)IV  E)V

(I) Various studies have indicated that people exhibit
many behaviours in about the same order, even
though they have experienced very different
environments. (Il) We may speak of learning to read
as a process and of reading abilities as the products
or end results. (lll) Learning as a process is of
primary importance in deciding the level of the
materials of instruction. (IV) What an individual can
learn is determined not only by his level of physical
and mental maturation but also by what skills,
attitudes, interests, tastes, and knowledge he has
already developed. (V) If the height of an individual’s
enjoyment in reading is Donald Duck, for example, it
would be a mistake to begin with Lady of the Lake to
advance his literary taste.

A)l B) Il c)ym

D)IV  E)V

A
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(I) Scientists hoping to show that Chopin died from
cystic fibrosis, and not tuberculosis as is widely
believed, have been refused permission to prove
their theory with tests on the composer’s heart.

(II) When researchers at Warsaw’s Institute of
Molecular and Cell Biology asked for access to the
heart, which has been preserved in alcohol since his
death in 1849, the Polish government said, “No”.

(Il1) When Poland emerged from under Soviet
domination, the people were expecting a new era of
accessible government to begin. (IV) Their goal was
to demonstrate that this hereditary disorder need not
be a barrier to achieving greatness. (V) But much to
their disappointment, Chopin remains unavailable for
scientific research, at least for the time being.

A)l B) Il C)

DIV  E)V

(I) The practice of counting population is, in fact, a
very old one. (Il) An essential feature of a census is
that the enumeration is direct and names each
individual person. (lll) The Roman census, which was
designed primarily as the basis of the taxation system
under which citizens were classified into six classes
according to their property, also ascertained the
number of men available to serve in the army.

(IV) The census takers declared publicly the number
of persons counted in Rome, and the proportion of
orphans and widows. (V) In 5 B.C., the census was
extended to the whole of the Roman Empire.

A)l B) Il C)

D)IV  E)V

() After the arrival of road and rail links, the
commercial importance of Amsterdam’s 75 km of
canals declined, although barges still ply the waters
of the Amstel River. (ll) Canals do, however, play a
crucial role in the city’s tourist industry, as well as
providing Amsterdammers with transport routes and
a place to live. (lll) In 1994, the city council passed
laws aimed at reducing pleasure-boat traffic and
imposing stricter rules on houseboats. (IV) A rapid
increase in population in the latter half of the century
caused a demand for housing in the city. (V) In spite
of this, the canals can get very clogged in summer,
and there are still around 2,500 houseboats officially
moored within the city’s boundaries.

A)l B) Il c)nm

DIV  E)V
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57. - 60. sorular asagidaki pargaya gore
cevaplayiniz.

Scottish philosopher and historian David Hume
emerged as an economist also with the publication of
his Political Discourses. The famous Adam Smith
was a friend of his and may have been influenced by
Hume: they had similar principles, and both were
very good at illustrating and supporting these from
history. Although Hume did not formulate a complete
system of economic theory, as did Smith in his
Wealth of Nations, he introduced several of the new
ideas around which the “classical economics” of the
18" century was built. His economic philosophy can
be understood from his main arguments: that wealth
consists not of money but of commaodities; that the
amount of money in circulation should be kept related
to the amount of goods in the market; and that poor
nations impoverish the rest because they do not
produce enough to be able to take much part in
trade. Beyond this, he urged society to welcome the
shift from an agricultural to an industrial economy,
without which civilization could not be achieved.

57. According to Hume, ----.

A) rich nations should produce more to be able to
feed their citizens

B) rich nations should provide financial help to
poorer nations

C) poor nations have a negative effect on richer
nations

D) poverty can be overcome by increasing the
production capacity of rich nations

E) poor nations can take part in international trade

only when rich nations are impoverished

A
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58. According to the text, Adam Smith ----.

59.

60.

was very much under the influence of Hume

formulated a complete system of economic
theory

had ideas that conflicted with Hume's
was uncertain about Hume’s principles

had a great effect on Hume

According to the text, Hume ----.
A) was against the ideas on which the “classical
economics” of the 18" century was based

B) misunderstood the principles that his friend
Adam Smith believed in

C) was not the only one who excelled at illustrating
and supporting his principles from the past

argued that money in circulation had to be barely
related to the amount of goods in the market

stated that civilization required advances in both
agricultural and industrial production

Hume’s belief was that poverty was mainly
caused by ----.

A) the amount of money in circulation

B) the scarcity of produced goods

C) the abuse of poor nations by rich ones

D) the lack of a complete economic theory

E) Adam Smith’s poor grasp of economics

Diger sayfaya gecginiz.
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61. — 64. sorular asagidaki pargaya gore
cevaplayiniz.

The people of Hong Kong have been experiencing an
identity crisis ever since the British returned the
colony to China in 1997 and it became a Special
Administrative Region with special privileges (for 50
years). Although they are proud of their Chinese
ethnicity, culturally they have always felt
overwhelmingly Western and therefore much different
from their cousins on the mainland. Now they have a
new worry: a growing threat to Hong Kong'’s
economic success. The Chinese government recently
announced its plan to turn the city of Shanghai into a
global financial and shipping centre by 2020, a move
that is seen as weakening Hong Kong's traditional
and profitable position as international gateway to
mainland China. Even worse, China’s friendlier
relationship with former enemy Taiwan is already
reducing transit commerce through Hong Kong. After
an economic contraction of almost 8% earlier this
year, Hong Kong is feeling real pain, and the jobless
rate could approach record levels. So the normally
hands-off local government has sprung into action: it
has announced two rounds of tax cuts and various
handouts to the poor and to businesses. In addition,
the city’s long-term planners have recommended that
Hong Kong’s government focus on developing six
fields — including education, environmental-related
industries, and medical technology — in which Hong
Kong already has an edge.

According to the passage, the Hong Kong
government ----.

A) has been investing heavily in medical-technology
companies

B) views the government of Taiwan as its enemy

C) supports the plan to make Shanghai a global
financial and shipping centre

D) is planning to bring about a rise in the jobless
rate in the city

E) usually does not interfere in the local economy
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We can infer from the passage that for many
years ----.

A) Hong Kong has made a lot of money from
others’ trading with China

B) Hong Kong has been suffering from severe
economic contraction

C) the Chinese government has pressured the
people of Hong Kong to give up their Western
ways

D) China and Taiwan have enjoyed friendly
relations

E) the Hong Kong government has given out money
to the poor people of the city

The passage points out that Hong Kongers’
identity crisis ----.

A) arises from their having lived under British
colonialism in the past

B) is related to their communications with their
families on the mainland

C) is closely linked with their city’s economic
downturn

D) has been made worse with the emergence of
Shanghai as a future competitor

E) did not exist before 1997

We learn from the passage that Hong Kong'’s
long-term planners ----.

A) hope to give the city a natural advantage in
education, environmental-related industries, and
medical technology

B) identified six economic areas deserving of
government support

C) advised the government to carry out two rounds
of tax cuts

D) are concerned about how to meet the challenge
represented by Taiwan

E) are planning to boost the city’'s economy by 2020
in order to be equal to Shanghai

Diger sayfaya gecginiz.
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65. — 68. sorular asagidaki pargaya gore
cevaplayiniz.

On July 1, 2009, the US state of California began
enforcing a new menu-labelling law that requires
chain restaurants to post on their menus the calories
contained in their food items. Three other states

— Oregon, Maine, and Massachusetts — have already
passed similar regulations, as have 11 city and
county governments. The trend has gathered
strength quickly, mostly because of concern about
the nation’s expanding waistlines. The next step is to
deploy the practice nationally, and the Congress is
about to debate such a law. Pressure for this type of
move is coming from the obese, who represent more
than a third of American adults, and their defenders.
Overweight people often struggle to estimate the
number of calories they consume when eating out
and make mistakes when calculating how much food
they should order. Proponents of menu labelling hope
that knowing what is in their food may direct people
to healthier items. In Los Angeles, for example,
officials optimistically predict that menu labelling
could prevent nearly 40% of the annual weight gain
there. However, the effect of menu labelling on
dietary choices remains unclear, and the regulations
are too new to produce much evidence. Furthermore,
some critics of the trend believe the public-health
benefits of the new legislation are irrelevant. For
them, the new regulations are welcome as part of a
consumer’s wide-ranging right to know.

The passage indicates that the new menu-
labelling law in California has the potential to ----.

A) force chain restaurants there to offer less food to
the public

B) encourage the habit of overeating in the
population at large

C) persuade other states to consider passing similar
laws affecting chain restaurants

D) help people become more health-conscious

E) reduce the population in that state by nearly half
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We can infer from the passage that obese people
in the US ----.

A) want to control the number of calories they are
ingesting in chain restaurants

B) are under attack by other Americans
C) eat most of their meals at chain restaurants
D) have difficulty making mathematical calculations

E) have their own special representatives in the US
Congress

The passage informs us that menu-labelling laws

A) were passed in the other US states after
California enforced its version of the law

B) will all be cancelled when the US Congress
passes a national requirement

C) are a sign of the reaction to Americans’ getting
fatter and fatter

D) will result in the disappearance of obese
Americans in the future

E) forbid fat people to eat too much in chain
restaurants

The passage points out that the proponents of
menu labelling ----.

A) don’t really know if it will be successful

B) often have to defend the lifestyle choices of
obese Americans

C) are themselves regular customers of chain
restaurants

D) oppose the tendency of Los Angeles residents to
gain weight every year

E) believe much of the new law is irrelevant

Diger sayfaya gecginiz.
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69. — 72. sorular asagidaki pargaya gore
cevaplayiniz.

Although an extension of the worldwide ban on ivory
exports to discourage the illegal killing of African
elephants has been greeted enthusiastically in many
places, the rhinoceroses (rhinos) of southern and
eastern Africa are still paying with their lives for their
horns, which remain prized by the Chinese for their
medicinal and aphrodisiac qualities, and by the
Yemenis for making dagger handles. According to a
group, called Traffic, that monitors the wildlife trade
throughout the world, this illegal business is on the
rise. Last month, the group called for stronger
international cooperation along smuggling routes and
for more secure management of legal horn stocks.
For its part, Zimbabwe, where there are a lot of illegal
killings, has taken a very radical decision: it says it
will start dehorning its rhinos. Today only five species
of rhino survive in Africa and Asia. In the past,
especially in the 19" and 20" centuries, they were
slaughtered on a large scale by white hunters. By the
1960s, fewer than 70,000 black rhinos were left in
Africa, and, over the next two decades, illegal hunters
wiped out 96% of them. But since 1995, thanks to
vigorous conservation efforts, the number of black
rhinos has gone up again, to around 3,700. The
number of white rhinos has nearly doubled over the
same period, to over 14,500.

As one learns from the passage, black rhinos in
Africa ----.

A) are preferred by the Yemenis over white rhinos
for making dagger handles

B) are so much in demand for medical uses that the
government of Zimbabwe is devoting more
resources to conserving them

C) were hunted almost to extinction in the past by
Chinese doctors

D) were almost completely exterminated during the
1970s and 1980s as a result of illegal hunting

E) and white rhinos in Asia are the only surviving
species of rhinoceros in the world
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As is pointed out in the passage, there is ----.

A) absolute indifference in the world towards
Zimbabwe’s decision to dehorn its rhinos

B) a full international consensus on the ending of
the wildlife trade in Zimbabwe

C) widespread illegal killing of wild animals in
Zimbabwe

D) now wide support for a new policy of limited legal
killing of African elephants

E) today an ongoing fall in the number of African
rhinos, especially in Zimbabwe

It is clear from the passage that the international
prohibition of ivory exports ----.

A) has been strongly opposed by the government of
Zimbabwe

B) has been totally ignored by the governments of
China and Yemen

C) has been in force throughout Africa since the
early 1960s

D) has completely prevented the illegal hunting of
elephants in Africa and Asia

E) will be continued, and this has been widely
welcomed

According to the passage, in view of the growth
of the illegal wildlife trade, the group Traffic ----.

A) is concentrating on shutting down the Chinese
and Yemeni wildlife markets

B) has put a great deal of pressure on African
countries, especially Zimbabwe, to begin
dehorning their rhino populations

C) has increased its involvement in the campaign to
save African elephants from extinction

D) is urging the international community to step up
its efforts to stop the smuggling

E) aims to have governments legalize what is now
the illegal business of wildlife trade

Diger sayfaya gecginiz.



73.

A

73. - 76. sorular asagidaki pargaya gore
cevaplayiniz.

Many governments these days feel that the path to
happiness for society as a whole lies through
spending on the welfare of its youngest members:
their health, education, and general well-being. A
recent report from a leading international
organization, the OECD, examined these efforts
among its 30 member countries in order to learn if the
aim was being achieved. Specifically, the researchers
investigated 21 variables that were then grouped into
six main categories. The results surprisingly showed
that while some kinds of spending on children do
work, many should be improved or scrapped. Also,
total government spending per child was seen to vary
considerably, as did outcomes, but the correlation
between these was not strong. Moreover, the
differences in spending levels among countries were
not directly linked to their relative levels of prosperity.
For example, rich Sweden is, as expected, kind to its
children, but poorish Hungary turns out to be
generous, too. Up-and-coming South Korea might be
expected to be a bit reluctant to part with so much
money, but the stinginess of Switzerland is totally
unexpected. Children’s lobbies always want more
funds, but the OECD report suggests that more
money does not reliably yield better results. America
has one of the highest levels of spending per child,
and among the worst outcomes. In contrast, Australia
spends less, with better outcomes.

The passage points out that an OECD member
country’s level of prosperity in relation to other
members’ ----.

A) will determine if its child-welfare programmes
should be improved or scrapped

B) is associated with the constant efforts of
children’s lobbies to obtain more funds

C) generally convinces it to be more generous in
providing for its children

D) depends on its geographic location

E) was shown to have almost no connection to its
amount of spending on child welfare
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The passage makes it clear that typical
expectations about a country’s spending on child
welfare ----.
A) often match the reality found by the researchers
B) can easily turn out to be wrong

C) are essentially the same for most of the OECD

D) cannot be separated from its record in the six
main categories

E) do not take into consideration all the 21 variables
studied by the researchers

According to the passage, the OECD carried out
its investigation of child welfare in its members

A) to see if their stated goals were being reached

B) because many governments believe that
spending on child welfare leads to societal
happiness

C) in order to learn where government funds
directed at child welfare were being wasted

D) to prove that more spending on child welfare
guarantees positive results

E) despite the fact that a key correlation was weak

The passage mentions the case of Australia in
order to demonstrate ----.

A) a contrast with other members of the OECD

B) the resistance of some OECD members to the
pressures coming from children’s lobbies

C) the similarities between it and America in terms
of their child-welfare policies

D) the wisdom of the Swiss government’s decisions
affecting child welfare in Switzerland

E) how spending relatively less on child welfare
doesn’t necessarily produce harmful results

Diger sayfaya gecginiz.



77.

77. - 80. sorular asagidaki pargaya gore
cevaplayiniz.

He is young, dark, and handsome, with a beautiful
light tenor voice, and he swept the Latin Grammy
Awards in 2008. But should Juan Esteban Aristizabal,
better known as Juanes, perform his songs at an
upcoming “peace concert” in the Cuban capital,
Havana? The debate over this Colombian rock star,
who is based in the US city of Miami, has been
raging on that city’s Spanish-language radio and
television shows. Older Cuban-Americans, who left
Cuba in the immediate aftermath of the 1959
revolution there, vehemently oppose the concert.
They argue that it is just the latest attempt by the
Cuban regime to manipulate public opinion.
Traditionally, these older exiles have held all the
political power in Miami. But younger ones are
pushing back, especially when it comes to the arts.
Beyond the overall Cuban-American community, the
Juanes concert is seen as a potential great turning
point in US-Cuban relations. A successful outcome
could smooth the way for a further softening in
American policy towards Cuba. Artists other than
Juanes have attempted this kind of bridge-building
with Cuba before; for example, left-leaning musicians
like Bonnie Raitt and The Police appeared there in
1999, but they had an overtly political agenda.
However, Juanes himself, who is widely admired for
his humanitarian work in his native Colombia, denies
having any thought of politics. “My only message is
one of peace, of humanitarianism, and of tolerance,”
he said recently.

The passage states that the relationship between
the US and Cuban governments ----.

A) depends on the approval of the older Cuban-
American exiles

has been affected by the debate over Juanes
taking place in Miami’s Spanish-language media

will change now that younger Cuban-Americans
are disagreeing with the older generation

may become friendlier if the Juanes concert in
Havana goes well

was greatly improved by the appearance in
Havana of Bonnie Raitt and The Police

A
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We learn from the passage that older Cuban-
Americans oppose Juanes’s concert because ----.
A) they believe the Cuban government is using him
for propaganda purposes

B) Miami’s Spanish-language radio and television
programs have been severely criticizing it

C) they are disturbed by the younger Cuban-
Americans’ artistic choices

D) they left Cuba soon after the 1959 revolution

E) they never want to see a further softening in

American policy towards Cuba

In the passage, it is clear that Juanes ----.

A) wishes he were Cuban instead of Colombian

B) claims to have no political purpose with his
planned concert

C) has a tense, hostile relationship with the Cuban-
American community in Miami

D) is more concerned with his own career than with
helping people in need

E) was invited to perform in Havana because of the

Latin Grammy Awards he had won earlier

We can infer from the passage that the overall
Cuban-American community ----.

A) loves pro-Cuban musical artists like Bonnie Raitt
and The Police

B) believes that Juanes is lying about his reasons
for performing in Havana

C) is much more emotional about US-Cuban
relations than the wider American public is

D) does not speak or understand English very well

E) has almost no interest in the arts

TEST BITTi.
CEVAPLARINIZI KONTROL EDINiz.



SINAVDA UYULACAK KURALLAR

. 2009-UDS Sonbahar Dénemi Sinava Giris ve Kimlik
Belgesinin asli olmadan sinava giriimesi yasaktir. Bu
belgenin fotokopisi veya faksi ile de sinava girileme-
yecektir. Bu sekilde sinava giren adaylarin sinavi
iptal edilecektir.

. Adaylarin cep telefonu, ¢agn cihazi, telsiz, fotograf
makinesi, cep bilgisayari, saat fonksiyonu diginda
fonksiyonu olan saat, hesap makinesi, sozlik, kitap,
defter, misvedde kagidi, pergel, agi olger, cetvel ve
benzeri her tirli ara¢g geregle sinava girmesi
kesinlikle yasaktir. Bu araglarla sinava girmis adaylar
mutlaka Salon Sinav Tutanagina vyazilacak, bu
adaylarin sinavi gecersiz sayilacaktir.

. Bu sinavda verilen toplam cevaplama suresi 180 da-
kikadir (3 saat). Sinavin ilk 90 ve son 15 dakikasi
icinde adayin sinavdan gikmasina izin verilmeyecek-
tir. Sinav evrakini teslim ederek salonu terk eden
aday her ne sebeple olursa olsun tekrar sinava de-
vam ettiriimeyecektir. Cevaplamayi sire bitmeden
tamamlarsaniz, cevap kagidinizi ve soru kitapg¢iginizi
salon gorevlilerine teslim ederek salonu terk edebilir-
siniz. Sinav suresinin bittigi ilan edilip cevap kagitlari
ve soru kitapgiklari salon gorevlileri tarafindan topla-
nincaya kadar yerlerinizde kaliniz.

. Sinav suresince gorevlilerle konugsmak ve soru sor-
mak yasaktir. Ayni sekilde gorevlilerin de adaylarla
yakindan ve alcak sesle konusmalari; ayrica, aday-
larin birbirinden kalem, silgi vb. seyleri istemeleri ke-
sinlikle yasaktir.

. Sinav sirasinda kopya ceken, gekmeye kalkisan,
kopya veren, kopya cekilmesine yardim edenlerin
kimlikleri, Salon Sinav Tutanagina yazilacak ve bu
adaylarin sinavlari gegersiz sayilacaktir. Gorevliler
kopya ¢cekmeye veya vermeye kalkisanlari uyarmak
zorunda degildir, sorumluluk size aittir.

Adaylarin test sorularina verdikleri cevaplarin dagi-
limlari bilgi islem yéntemleriyle incelenecek; bu ince-
lemelerden elde edilen bulgular bireysel veya toplu
olarak kopya girisiminde bulunuldugunu gdsterirse,
kopya eylemine katilan adaylarin cevaplarinin bir kis-
mi veya tamami iptal edilecektir. Cevap kagidinizi
baskalari tarafindan gorilmeyecek sekilde tutmaniz
gerekmektedir. Bu durum sizin i¢in son derece énem-
lidir.

OSYM Temsilcisi bir salondaki sinavin, kurallara uy-
gun bicimde yapilmadigini, toplu kopya girisiminde
bulunuldugunu raporunda bildirdigi takdirde, OSYM
takdir hakkini kullanarak bu salonda sinava giren
adaylarin timinin sinavini gegersiz sayabilir.

. Adaylar, gorevlilerin her turlli uyarisini dikkate almak
zorundadir. Goérevliler, gerektiginde oturdugunuz
yerleri de degistirebilir. Sinavinizin gegerli sayiimasi,
her seyden 6nce sinav kurallarina uymaniza bagli-
dir. Kurallara aykiri davranigta bulunanlarin ve
yapilacak uyarilar dikkate almayanlarin kimlikleri
tutanaga yazilacak ve sinavi gegersiz sayilacaktir.

7.

10.

1.

12,

13.

Cevap kagidinda doldurmaniz gereken alanlar bulun-
maktadir. Bu alanlari eksiksiz doldurunuz. Cevap ka-
gidina yazilacak her tirlt yazida ve yapilacak batin
isaretlemelerde kursun kalem kullanilacaktir. Tiken-
mez kalem ve dolma kalem kesinlikle kullaniimaya-
caktir.

Cevaplarin cevap kagidina isaretlenmis olmasi gere-
kir. Soru kitapgigina isaretlenen cevaplar gegerli de-
gildir.

Soru kitapgiginizi alir almaz, sayfalarin eksik olup
olmadidini, kitapgikta basim hatalarinin bulunup bu-
lunmadigini kontrol ediniz. Soru kitapgiginizin sayfasi
eksik veya basimi hatali ise degistiriimesi icin derhal
Salon Baskanina basvurunuz.

Soru kitap¢iginda her sayfanin tepesinde basil bulu-
nan soru kitap¢igi tirdnun, kitapgidin 6n kapaginda
basil soru kitap¢igi tiru ile ayni olup olmadidini kont-
rol ediniz. Farkli olmasi durumunda Salon Baskanin-
dan yeni bir soru kitapgidi isteyiniz. Soru kitapgigi-
nizin tarindn degisik oldugunu daha sonra fark eder-
seniz, size 0 zamana kadar cevaplama yaptiginiz tir-
den, hatasiz bir soru kitapg¢igr verilmesi icin Salon
Baskanina basvurunuz.

Cevap kagidinizda, size verilen soru kitapg¢iginin ti-
rint “Soru Kitapgigi Tarl” alanindaki ilgili yuvarlagi
doldurarak belirtiniz. Cevap kagidinizda isaretledigi-
niz Soru Kitapgigi Turl salon gorevlileri tarafindan
sinav oncesi kontrol edilerek paraflanacaktir. Sizin
isaretlediginiz ile salon gorevlilerinin parafladiklari
kitapcik tlri arasinda fark olmasi halinde salon
gorevlilerinin parafladiklar kitapgik tiri dikkate alina-
caktir.

Cevaplamaya gegmeden Once size verilecek soru
kitapgidinin Gzerine adinizi, soyadinizi, T.C. Kimlik
Numaranizi ve bu salonun Salon Numarasini yaziniz.
Sinav sonunda soru kitapgiklari toplanacak ve
OSYM'de tek tek incelenecektir. Soru kitapgiginin bir
sayfasi bile eksik ¢ikarsa sinaviniz gegersiz sayila-
caktir.

Soru kitapgidinin sayfalarindaki bos yerleri misvedde
icin kullanabilirsiniz.

Sinav suresince, gorevliler dahil, salonda kimse siga-
ra, pipo, puro vb. seyleri icmeyecektir.

Sorulari ve bu sorulara verdiginiz cevaplari ayri bir
kagida yazip bu kagidi disari ¢ikarmaniz kesinlikle
yasaktir.

Sinav salonundan ayrilmadan o6nce, soru kitap-
ciginizi, cevap kagidinizi ve 2009-UDS Sonbahar
Doénemi Sinava Giris ve Kimlik Belgenizi salon
gorevlilerine teslim etmeyi unutmayiniz.
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